=

Sliillly St bl mﬁ.\h
2017 it 5501

Gabgll Al 8yl
GHUI palad! byISS Olosal
dpirl O ]!

3305 L 03 34l

Ls1aTg dy ot dall) 83l 8yl

PO s pdagall aal sy of mdjial e

3
g ) dalaal) L
Small Oy 368
5 oyl Glayd Sl Leies
(Sl Sy ). T)shals il
e, &S

& % k%

4
el Aaleal) L]

Aial Badl o3 Gl e (555
ey a8l g Casall saisls
Jadll fﬁg e (g Sa
o) Slalia
Aad) b Judl saels e
P 2aal da)) cpé et .

BALE dsate A€ (Jaid Ja¥ Abalsl) ) JlasY]

[2065205 oo/ 1987 3 &

J ¥ gyasal

: jail
1
2l guall @Lﬁd\ RS TAETN
LA & gina §)lin Gaadul,
Gl Lgdsh Cisaa (3l
P S d
(3Lasinal B AlaS)
k% %k %k
2
Sadll Faalal) 358 G Gdaay oyl
Culady) Lamb (Aiay
Ao Lol cuan s5laa,
G iy
el .. oi) Gl

oSl Bl ooy Gapla t bl 2 s gkl AU k) luall Cisea e B g

4 1 v



=5

2017 bt byd S [ Al W 1hwsd)] 15Ty gt G 1850 & L

P
(Bl 10) :(gsal) el 3
®aanail) i e lal) Lgdyln ) Ze Laay) sallal Lo (1
Tlaginy A0l Loy $halaally Je L&) aady (2 (2
¢ A adaall 8 5oLl Loy 1 8)pall Lo il A5 claslll e de sane Jalll
(
(

w

¢ AN e sauaill o AV adaid) leheay ) 2l YY) L (4
o) pdge Al Yhes Qe aa Gl 8 Q) Ll 23 (5

(Bl 06) (gl sl Ll

Banadll e ol (5l Lagie JSI e (RSl 0sSall) GalVa cplia o Glaal) caagli (1

bl a7 by 'y B ekl e B Sl a0 AR gl s s Gle) Jle (2
o ARE )rdes el Cpus O Gfie sl Gilall Coel @l pdaid) e Gaelal
(Bl il b (el e ) 5 V) k) (3L

By Wk ges puy Al Ay Ba ' sllagdl) gl A Eja el 8 G (3

Al B Lagidadny (g (Lad)SY) (haaa gaill e le (4

Gl QA e Sn Lo 121D cAbedl an B (30 adaiall (o B Sl Gimgpe 3LE (5
Bauaall

-

(Bl 04) : (gail) an g8l LI
Lelaa¥l &l e l clumidl e cuaall cogall el 8 e Cabig jla sl

175 Lo dial clidy Abuldy o] Lad ZGEY LG ¢sjial) culist)
il gy cac)sil DSID ¢Sl Wiea (sl 13 g 0 558 (i)

"

JY) Eaagall gl

4 o2 dmie



=5

2017 bt byd S [ Al W 1hwsd)] 15Ty gt G 1850 & L

g.'am\ &med\
s gaill
ce\a) alsbe (im0 Glladl Sled GA DS ES L

—"CAY e et UK AN AL e OS G Legd (3885 (libien alS thlglse (A
By G385 QWIS desana G LSS 1Y A5al) Gine el Lo €000 delaiu) b Laghias oIS Ja
ddasnall Gl gl ity o Jayds alladl 8 lihaia sang L) (g5 Al LT 13 dasg i o allal)
lal 8 Al = aia 8 - atia Gl e ogla A00a e(smil Cun i s o dyd A s
odn 5 Uagyd FRT L. el S il ¢ AN G all allanialy ¢ ol gl AUl Glld a2
1 lgale Jseanll ) Gallaiy Jig el lelal San ) 455l
Y)Y G Y ) Lt Lkl O e Gl Ches 148 Blud)
s S oBlyg lally A s O cJsnSlly L) (e Tanll (g Slslasall L Gl
st 1Y) G platl Bl a b gl 5aTL slslisal) canal SIS €805 mlloall o ¢S
Ao Laa¥l #o ol Ay oo aals AalS L Blslusalls A5all Lgdspa (el Baals AalS L (LA W (lS)
LAY o A iy Ay Jlal 25

S dedl Jim ) OsB B e cmpd 13 V) ks 580 058 Y 539 Al

oy Wl opllid) gn il caanall Sl o Lo he @l g laa¥) ) Lo lgusie

Gm G M Celliv) L zbad) el ol dnba o lhds gl W el (b

Aadl Gadl dalall e 3&F, WA ui e oSl 35 a5 (Gpusalls (Spmaalls (sl

Sl g 568 ol el (lael (8853 g oS8 L LD il Rl (gl elagl) Sl ity o olisally

e BAY) L) elsgll 8 WBA Wilae 2358 Rl b <oy 585 (e 25 Heal) e ol paliall & OY
- G agandl 2 g Uhas L (&) 5 385 ) 3830 e Epdll ARkl s

iady gaa (1) chlaly clals " G Aaal) " ALalsl) clilgall 3445
Vel 73¢ 69 :oa . olisk Jagl Aun3a. 1982 1k . (guiSh lal) alu

A asms sies Y ol G Al el A 1AL 1 gell aasall

4 o 3 i



=5

2017 bt byd S [ Al W 1hwsd)] 15Ty gt G 1850 & L

PR
(B\& 10) :¢gsal el Yl
Miae glag o' ST Y Jaen ala gy ool 3glisal’ Wl ¢ B ine &5al) ind’ Of 25 (g5 (1
+2Ll) Lane o )3 YDA s38 sl adle 53L) e 25 (2
aailad il S e caiagls Sla € il 4] i @31 g ol L (3
A we iz SN 2 Jle T e Cllall bl L (4
coaldl) bl el adl (5

(Bl 06) (gl sl Ll
ekl el (Gal ola ! A Bl e aia (1
"oda gf pUal GlId et Al 3 AU RS tla e Gle) el (2
gb_sdﬂdbm@uuu : dﬁ@"@g” 1Sy
aa¥l sl (b)) - Al sl (LAl W oIS ) sopmlaal) Jae o &
s ¢ L0 2l pam e pdadn " 1Y) dedll (e 321 s (3
e Gus lee st e leayd) " ABAEY oaw g fAY) L) " Kl 5y5em A0V Blal) G (4

A5 ke £ 5 133aa 2l Sia (5ina Hlna Canks 5 A0l 5,24l S x5

(Bl 04) : (gail) an g8l LI

O 4ela) ey ¥ dlly 8l 4l 4 Al cala cudY) Bk (g0 8E) (8
Ladlay) e My toalaad) @l QoY dilie GV Ao g o clajslany o aaddl Yy cleie auan
S gtally Cuslall 3 L Sy aetlsen i b

Olliar Dagiivee ¢led jalae Zal T jae 82 gemiall 20031 spatall (ije cRaladl Agaall ) dabi

.L"_b.»).l Lan

) g gall g

4 4 irnivo



2017 skt 393 1y Olwsal £ g5k A3 god) Ll
Slelw 03 3l il O :Lwdd) 18157y il )l 135k L

r

Aadlal)

g 9aa

812

(A5 ¢ 3 pall) Aula) ualic

01

02

02

02

03

01

01

01

2x01

02

01

4x0.25

2x%0.75

2x%0.75

4%0.25

2%0.25

(Ll 10) 2 sl sl

nod el Ll Delaay) s jatall
o) il ade g 4808 5 Aipall plim g b lusl) slilaa
Al g dal sl e Caaldl Sl daleall e lall aagy -2
AL 5 Al planil 5 ol planaY) Lagin 4830l -
ot A el b e lill Lany Al 5 s2all -3
e A3l sliapn el Lelat 5 (ool el lSe e dalaall Eisy
Al e 5, Ao Ll Gl sl
5ok 4 calat sauadll (e A adatad) Leleay Al duaiall YA 4
Alaiuly dbdall cdial s peat JYA e andld Lgagldl el
g (il
;Jaladl
@M\ Slalia c).cﬂ\ ‘GJ\J\ “L\}d\ c‘_a_.\aﬂ\ ialaall ‘ajg)'al\ andl e
led 350 Alal il Hliiely | g ) Baadll s Jaill 4 il Ladill -5
oA il el e AR AV Al pualial
(ol Cardai) oy 1AS pall it Al Aladl) Jaad) Canda 63
BSosaall pelilldpad i b jdll — ddleall jluadll) SO
il Elaal Julis

AR a ) e S g ) RS, AN
(.hm()6) :Qg‘giﬂ‘ s L)

A jally oSl Jas e A31l el -
A< al) Jaa Gl Jas
G s (Dl G oatal el
:ohdlll Cual s Jidat -2

L it Al
Lo Al e s Ul dakdl) Ll Aadle § 4 peaie Jla day
oAl e 5 jallall Axidl) 4pai Aadle 5 o geaie e

2 1 ixin




2017 skt 393 1y Olwsal £ g5k A3 god) Ll
Slelw 03 3l il O :Lwdd) 18157y il )l 135k L

1.50

01

1.5

04

2x%0.25

3%0.5

2x%0.25

1x0.5

4x0.25

1x0.5

0.5

01

3%0.5

2x%0.5

rdeadl il e
P LLaa)

(sba uall & HLall & o yu) Ailad) 3 uall -3
iy Al 1 Gdag (a GG sl jelall aud iz il -
Al 3l Jaaw e &y & 4gle Alla 35N
L pom g Lad) ) Laa glia guall AT ina i s ilgi@Noday -
Laa () paall 4
(o) Cuigal) Qi) 2 jiad) juea -
(<) el alalaall o il yreas -
Aalaal) g g aa g dnle dilad) Y il Blus) 8 el LadSy -

@AJJ,J\EM\
124 o late &

A Ades -
OOV wd lall als) Abadil) wd s ccallall e 3 ) gl -
(... 4dall

(Bl 04) 1gasil) A il
23 51l 4By Hipaal) By jal) sasadll 3 (58 S 55 i J Gl 7 -

A Ailag) VY Ladll) e g : el g e -
: 4.:;\_5.1\ -

Soshnl ey — 3 ey — orab e — AU ey — A ey
215 83 S i i, Adia e
'4.1’.‘\1.23

omadll (8 sl /g e Bl (el gl e madl) [ A4y 28l A il Caiss
YV el
s s S el il S, Akt

2 o 2 mie




2017 :duliig 54 L sllal) Balgd s ladial g oungal dadgaill 4ulaY)

iaf cilat:daid) Lgalaly Luall 4all) :3ala Lad)
Akl (S g s sall) BolaY) jualic
Ailgs Bl
$SAll el Y
0.75 A aTiyad 03 e laall cuilsiy Sk GladY) (Y Fia lies Bpall- 1
0.25 Vojla L fodin cpandapd a g Al i Uag s b ST L " el
02 @;@A@}ﬁ\ewu‘@wgwﬁuy‘JBS\ngA;?l;as\JL»d\u\—
025 | Jsnslly il Cpa Janiill cpay sl lusdl ol " : Jial)
'._. a);‘}“ \.J.\A OJ"L" )A &_1‘}!)4;\)_“ a.JA J}\A.ﬂ IML\ odl_l) GA cJ.i Lgﬂ\ M\ 2
0.5
01 pedsin Laingg ¢ el Ll (sl olie by <38
0.5 - LBy Gl @ Sl ok L il ()
0.5 dal g N patl) ey -3
02 0.5 e laal Jla : ainyls
01 e gihaial) Judiill — gl = SladY) = AGlA aje dadie — ¢ dailad
05 C_g):a.-.mﬂ\ .meﬂ\ B QA:\.@.M\ .meﬂ\‘l-—
05 2\;\91.«3;\2“ Utﬂ} é\)ﬂ\ (de\ Jla..& C)I: ‘A\ LB).L'.'\E LE\S&\ d:déd\
02 p )y gl
(Slaa¥l ans Juadtll )ovnn Wl O LS sl g Lelilan &5 3 Sall = )a
4x0.25 | e (&0 Ol By Sa sa 1Al Al Cadig —G
SUVS POV PRV 41| ISR A1 IOV IV I
0 G Db e laiul bz liaall aebus—
taslly ) Adaa Sl (Anledd) Jdl Calag —
(5 (Lot cauinda «(5)))
cdaal ae pdiie S bl A Aaadle
Pad eyt palll janhi =5
01 el (g gacan ALY .
03 01 el Aol 5 aeluall G
01 . Audl) < eﬁaﬂ\ .

3 /1 dada




2017 :4Asuiig) 5)49 Ly slsl) Balgds : (ylada) &g gal daad gall) Lb:]\
uiaf clat:daid) Lgalaly uall 4all) :3ala Lad)

Goall) oLl :Lald
: BLAY) Y s .1

PRipK dalgl
ol ¢ el ¢ 552 Y) o)l
01 | 4x0.25 v Al ¢ aglanl) oalln
e zo Al
e sliill ¢ glacall A
eyl 2
L) aaldl)
'é)Au\ B).uﬁ\ LPE :\.A)\.Cj D9 RO 'é)l.&}“ ea.n‘ %) d.l.i ew\
. soallall dadl) 4 Al e ud a3)
02 | 4x0.5 o)A : - 9 Hpaia i : D
o alaall
Ljd clsa 8 Aadly LY Qe e Ll Jae Y Adad dlaa
e Sl (2 Al e o RIS
s e
Ayl e xd) dae 3 Adshaa Alad Ales &

D emagilly Jalaill aa ((audady ) Jadl) (e paY) Aelua .3
cmasll g Jalal s AEla | il
Al Loy ¢ oSl dadll 3l ddejlmdll o caia

01 | 4x0.05 | | @l 8 4t oY 5)5uad L Ll duay ill il | el pnds

Aa g1k

: Laild) 3 gcal) Al .4

Sl g5l 5ysall g JEa)

0-5 Gob oo el aSB s | Cadad oluily slAY) s | LAY Ll

0171 025 o Ve &Y it JL”“‘ al le il 5 m¥ n | e
0.25 Ol 3)5m . Tean ' Adild | Amadl)

"

3/24.:.5.«4




2017 :4Asuiig) 5)49 Ly slsl) Balgds : (ylada) &g gal daad gall) Lb:]\
uiaf clat:daid) Lgalaly uall 4all) :3ala Lad)

Pl pladll L5
0.5 ST ds g Cyuaall

01 | 0.25 ekl (Bl gl ash 5 dags | Gl Lk Jgul # Lansill
0.25 Ol b palall clall | Gl 3L S e # oS3

bl an gl s LG
Vslae a5l Ll V) A5 as ¢ Qa1 8 AN 53 geaiall sl 5ialkl) *
2x0.5 Ao 23l e Bals Wil sl Bpase JBpeig o leing 3 JSLAW i
0SSR gaddn - alldll
- il el 158l -
04 | 4x0.5 | dleliats gy o panlly aainall (ads Al Lleadll IS Gyl -
- g gl yuads
- aagilly malll g W) -
2x0.5 e JN1 5 ol Cled A Al L Adanddl) duadl) — sl
Lol Sy mbiall S Alaadle

"



-

dprid) Aol AU &y 331 Ay agadr)

Olldly Ol sbgll O1g! dub ) dg sl 5139
2017 :iglawy) 3y5ul GHEI gelad) Ly Olosal
il O\ daid!

330 L 03 sl EWRV P ESUTE-EIVIE W

oY) (e gadagall aaf iy of mdial e
J¥) gaasal

La torture en Algérie ne date pas de 1954. Les exactions commencent des 1830 (...):
pillages, carnages, incendies de maisons, rafles de civils a grande échelle.

La conquéte de I’Algérie s’accompagne d’actes de barbarie, les documents d’histoire en
attestent. (...) Aujourd’hui encore, les noms des généraux Montagnac et Turenne restent connus
en Algérie pour leurs «enfumades» de centaines de civils dans des grottes en 1836 et 1837. Au
XXe siécle, comme au X1Xe, la « pacification » en Algérie passe par la répression.

Deés 1947 et 1948, Francis Jeanson s’alarme de la situation qui prévaut en Algeérie. Mais il
crie dans le désert.

En 1951, un ancien résistant, le journaliste Claude Bourdet, pose la question : « Y a-t-il
une gestapo* algérienne ? » et décrit les méthodes en vigueur dans les commissariats : électricité,
baignoire, pendaison et autres supplices.

En 1955, le gouvernement charge un inspecteur général de I’administration, Roger
Wauillaume, d’enquéter sur la réalité des sévices en Algérie. Ses conclusions sont claires:
« Toutes les polices — gendarmerie, police judiciaire, police des renseignements généraux —
torturent en Algérie », et ces « pratiques sont anciennes », souligne-t-il dans son rapport final.

Apres les massacres d’ao(t 1955 dans le Constantinois, I’armée prend la releve de la
police pour organiser la répression en Algérie. Appelés et rappelés sont mobilisés en masse. Un
certain nombre d’officiers de carriere mettent a leur tour en pratique les méthodes de torture,
électricité notamment, ramenées d’Indochine. (...) lls y ajoutent les innombrables «corvées de
bois» et les déplacements massifs de populations.

Le 10 aolt 1956 éclate la premiere bombe « terroriste», rue de Thébes, dans la Casbah
d’Alger. Elle est le fait de deux activistes européens, qui ne seront jamais inquiétes, et fait pres de
70 morts parmi la population musulmane. L’ALN ne laisse pas ce crime de guerre impuni. C’est
I’engrenage. La torture se généralise et s’institutionnalise*, comme le reconnaitra le général
Massu, en novembre 2000, dans le journal Le Monde. (...)

Florence BEAUGE, Le Monde du 28 octobre 2004

*Gestapo : Police (violente) de I’Etat nazi (Adolf Hitler).
*Institutionnaliser : Rendre 1égal (accepté par la Justice) officiellement.
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Questions

mpréhension: (12 points)

Ce texte traite :
— des révoltes des Algériens durant la période coloniale.
— de I’histoire des pratiques de la torture durant la période coloniale, en Algérie.
— des manifestations pacifiques anticoloniales.

Recopiez la bonne réponse.

Relevez du texte une phrase qui montre que le systéme colonial a toujours utilisé la torture.
Quels sont les types de tortures pratiqués durant la période coloniale ?
Qui a utilisé le systeme de torture généralisée ?
« Mais il crie dans le désert. »
Cette phrase veut dire :
— Parler pour ne rien dire.
— Hurler dans le désert.
— Parler sans étre écouté.
Recopiez la bonne réponse.
A quelle période renvoie I’adverbe « aujourd’hui » dans la phrase suivante ?
« Aujourd 'hui encore, les noms des généraux Montagnac et Turenne restent connus en Algérie
pour leurs «enfumades» de centaines de civils dans des grottes. »
A qui ou a quoi renvoient les mots indiqués : « il », « ses », « ils », « elle » dans les phrases
suivantes :
— llcriedans le désert. «il »: ...
— Ses conclusions sont claires. « ses»: ...
— sy ajoutent les innombrables corvées de bois. «ils»: ...
— Elle est le fait de deux activistes européens ? « elle » : ...
« Elle est le fait de deux activistes européens, gui ne seront jamais inquiétés»
Par la proposition soulignée, I’auteur veut montrer que :
— Les deux activistes n’avaient pas peur quand ils avaient commis leur attentat.
— Les deux activistes n’avaient pas été poursuivis en justice par I’Etat colonial.
— Les deux activistes n’avaient pas peur de I’ALN.
Recopiez la bonne réponse.
En définitive, comment pouvez-vous qualifier le systeme colonial qui pratiquait la torture ?
Répondez en deux ou trois lignes.

I1) Production écrite: (08 points)
Traitez I’un des deux sujets au choix :

Sujet

I’indé
Sujet

n° 01:

Vous étes membre du comité de rédaction du journal du lycée. Faites, en une centaine de mots, le
compte rendu critiqgue du texte de Florence BEAUGE qui sera publié a I’occasion de la Féte de

pendance.
n° 02:

Vous étes en contact avec un(e) ami (e) de Belgique qui pense que la colonisation a été bonne pour
le peuple Algérien. Rédigez un texte (150 mots environ) dans lequel vous lui expliquerez les souffrances

au quotidien des Algériens durant la période coloniale.

JsY) gaagall o)
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Le message du secrétaire général de I'ONU, M. Ban Ki Moon :
A I'occasion de la journée internationale de la tolérance, le 16 novembre.

La mondialisation ne cesse de nous rapprocher les uns des autres. Les forums de
discussion en ligne et les sites des réseaux sociaux nous mettent en contact avec des gens que
nous ne rencontrons jamais. L'essor des mouvements sociaux et culturels internationaux nous
exposent quotidiennement aux godts, aux opinions et aux habitudes de nos contemporains. Nous
n'avons jamais eu autant d'occasions de nous parler et de bénéficier des échanges transculturels.

Pourtant, la mondialisation risque de créer un monde plus uniforme et d'éroder! cette
diversité qui est lI'une des grandes forces de I'humanité. Notre nouvelle proximité risque aussi de
réveiller par réaction la propension? humaine a ériger des murs, a séparer les gens entre "nous" et
"eux" et, trop souvent, a s’en prendre aux plus faibles, notamment les minorités nationales,
ethniques, religieuses et autres.

La tolérance n'est pas synonyme d'indifférence ou d'acceptation acrimonieuse® de l'autre.
Elle caractérise au contraire un mode de vie fondé sur la compréhension mutuelle, le respect
d'autrui et la conviction profonde que la diversité est une richesse et non une calamité.

L'ONU promeut la tolérance sur de nombreux fronts. Nous la mettons en avant dans notre
action en faveur de la paix, de la prévention des conflits, de la démocratisation et des droits de
I'nomme. Nous la défendons en cultivant le dialogue et en combattant I'intolérance et
I'extrémisme a travers l'alliance des civilisations et les nombreuses initiatives éducatives et
interculturelles de I'UNESCO. Et nous continuons d'ceuvrer pour 1'adoption de la Déclaration des
droits des peuples autochtones* et la création du Forum sur les questions relatives aux minorités.

En cette journée internationale de la tolérance, prenons I'engagement de nous mobiliser
contre l'intolérance, et défendons I'avenir de nos communautés les plus vulnérables et de
I'hnumanité toute entiere en unissant nos forces pour promouvoir la tolérance.

Le courrier de L'UNESCO 2009

Eroder : user, détruire par une action lente.
Propension : tendance naturelle.
Acrimonieuse : de mauvaise humeur, aigre.
Autochtones : indigénes

4 o 3 i
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Questions

I) Compréhension: (12 points)
1) L’auteur de ce texte est :
— Unjournaliste.
— Un historien.
— Un politique.
Recopiez la bonne réponse.
2) A quelle occasion, ce texte, a-t-il éte écrit ?
3) La mondialisation a réussi a nouer des relations solides entre les peuples.
Relevez du texte la phrase qui le montre.
4) Classez les expressions suivantes selon ce a quoi elles se rapportent :
Compreéhension mutuelle / indifférence / respect d'autrui / acceptation acrimonieuse.
e Latolérance est:

a-Le développement.
b- La régression.
c- L’éloignement.
Recopiez la bonne réponse

6) «L'avenir de nos communautés les plus vulnérables ». Relevez du 2°™ paragraphe une expression
de sens équivalent.

7) En vous référant au texte citez les fronts sur lesquels I'ONU ceuvre pour promouvoir la tolérance.
Quels sont les moyens utilisés pour y parvenir ?

8) A qui renvoient le pronom Nous, dans chacune des phrases suivantes :

- « La mondialisation ne cesse de nous rapprocher ». 1°" paragraphe.
- « Nous la mettons en avant dans notre action en faveur de la paix ». 4°™ paragraphe.

9) « Prenons I'engagement de nous mobiliser contre I'intolérance et défendons I'avenir de nos
communautés ».Réécrivez I'énoncé ci-dessus en le commencant ainsi: "Il faut que............ "
(faites les transformations nécessaires.)

10) "La diversité est une richesse et non une calamité". Développez cette idée en deux ou trois lignes.

I1) Production écrite : (08 points)
Traitez I’un des deux sujets au choix.
Sujet n° 01:

Le texte que vous venez de lire vous a plu et vous voulez en faire profiter vos camarades.
Rédigez son compte rendu critique qui sera mis en ligne. (100 mots environ).
Sujet n° 02

Gréace a la mondialisation les frontiéres se sont effacées et I'échange des valeurs entre les sociétés
est devenu courant. Rédigez un appel d'une centaine de mots, dans lequel vous inciterez vos camarades du
lycée a établir des échanges avec les jeunes du monde entier, a travers les réseaux sociaux

A g gall g3
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I- Compréhension de I’écrit (12 points)

1. Ce texte traite de I’histoire des pratiques de la torture.
01pt 01
2. Accepter I'une des deux propositions suivantes :
01pt 01 La torture en Algérie ne date pas de 1954.

ou Les exactions commencent dés 1830.

3. Ces pratiques sont anciennes.
02pts 0.5x4 Les types de torture pratiqués par les colonisateurs :
I’électricité — baignoire — supplices - pendaison. Accepter : sévices.

0lot 0.25x4 4. Lapolice - I’armée - la gendarmerie - les renseignements généraux.
p .
01 5. Cette phrase veut dire : Parler sans étre écouté.
01pt
01pt 01 6. « aujourd’hui » renvoie a : la période actuelle — 2004.

7. Il = Francis Jeanson.

Ses = Roger Wuillaume.

02pts 0.5x4 IIs = « les militaires » ou « des officiers de carriere »
Elle = la premiere bombe.

01pt 01 8. Les deux activistes n’avaient pas été poursuivis en justice par I’Etat
colonial.

02pts 02 9. Le systtme colonial s’est manifestement affiché comme systeme

raciste de par les actions abjectes qu’il a commises ; n’accordant aucune
importance a la vie humaine, ce systéme était basé sur I'injustice de
maniere a reléguer les algériens a I’état de sous hommes.

Accepter tout autre réflexion se rapportant a la thématique comportant les
termes : mauvais, abominable, terrible, abjecte, immonde, injuste, ...

2 1 ixin
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0.5 pt
01 pt

01 pt

02pts

0.5pt

01pt

02.5pts

0.5pt

01pt

02pts

0.5
1

0, 5x4

0.5

0,5x3

0,25x4

0,25x2

0,25x4

02

I/- Compréhension de I’écrit : (12 points)

1- L’auteur est : - Un politique.

2- Le texte a été écrit a I’occasion de la journée internationale de la tolérance le 16
novembre.

3- La mondialisation a réussi a nouer des relations solides entre les peuples.

La phrase qui le montre est : « Nous n'avons jamais eu autant d'occasions de nous
parler et de bénéficier des échanges transculturels. »

Accepter : la mondialisation ne cesse de nous rapprocher les uns des autres

4- La tolérance est :
e La compréhension mutuelle.
e Le respect d’autrui.
La tolérance n’est pas :
e [’indifférence.
e L’acceptation acrimonieuse.

5- Essor : - Le développement.

6- L’expression de sens équivalent & communautés les plus vulnérables est :
« aux plus faibles » 2°"° paragraphe.
Accepter : minorités nationales, ethniques, religieuses et autres.

7- Les fronts sont :
- L’action en faveur de la paix.
- La prévention des conflits.
- La démocratisation et les droits de I’homme.

Les moyens sont :

- La culture du dialogue.
- Le combat contre 1’intolérance et I’extrémisme
- Adoption de la Déclaration des Droits des peuples autochtones.

- Lacréation du forum sur les questions relatives aux minorités

8- Le pronom Nous (1 §): tout le monde.
Le pronom Nous (4°™ §): PONU.
Accepter :
Ban Ki-moon, Le secrétaire général de I'ONU et les membres de ’ONU

9- « Il faut que nous prenions 1'engagement de nous mobiliser contre I'intolérance et
que nous défendions 1'avenir de nos communautés ».

10- La diversité est loin d’étre une calamité mais une richesse stire parce qu’elle nous
permet de vivre dans une harmonie ; elle privilégie les échanges interculturels
d’autant qu’elle nous incite a aspirer a la paix et a la solidarité.

Accepter tout autre argumentaire en relation avec la thématique.

*
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I1 Production écrite : (08 points)
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I1 Production écrite : (07 points)
A) Le compte rendu objectif :
a) Organisation de la production : (02 pts)
025 - Présentation du texte (mise en page)
03 0’ 55 - Présentation du titre et des sous-titres
0 2’ 5xd - Cohérence du texte : progression des informations, absence de répétition et
=X de contre-sens, emploi des connecteurs.
0.5x3 - Structure adéquate (Introduction- développement- conclusion).
9
b) Planification de la production : (03 pts)
1 - Choix énonciatif en relation avec la consigne.
03 1 - Choix et sélection des informations essentielles.
1 - Reformulation.
0.5 c) Utilisation de la langue de facon appropriée : (02 pts)
02 0’ 5 - Syntaxe et lexique.
’ - Ponctuation.
0,5 T d
0.5 - emps et mode
’ - orthographe
B) La production libre :
a) Organisation de la production ; (02 pts)
0,5 - Présentation du texte (mise en page selon le type d’écrit demand¢)
01 - Présence de titre et de sous-titres
0,5
- Cohérence du texte :
- progression des informations,
01 0,25x4 - absence de répétition
- absence de contre-sens,
- emploi des connecteurs.
01 0,5x2 - Structure adéquate (accroche - condensation).
b) Planification de la production : (02 pts)
02 1 - Choix énonciatif en relation avec la consigne.
1 - Choix et sélection des informations (originalité et pertinence des idées)
1 c) Utilisation de la langue de facon appropriée : (03 pts)
0.5 - Correction des phrases sur le plan
0’5 - Adéquation du lexique thématique.
03 0:5 - Utilisa?ion adéquate des signes de ponctuation.
05 - Emploi correct des temps et modes.
’ - Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)
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PART ONE: READING (14 points)
A) Comprehension (07 pts)

Read the text carefully then do the following activities.

The education system in Finland has received plenty of attention from all over the world. Finnish 15-
year olds are number one in terms of skills in mathematics, scientific knowledge, reading literature and
problem solving. Such exceptional performance stems from long-term education policy that has been
based on the need to enhance equity and quality of education. This means that the aim has been to arrange
high-level education for all.

Finland has built up an education system based on uniformity, free education, free school meals and
special needs education by using the principle of inclusion. Finnish basic education has been logically
developed towards the comprehensive model which guarantees everybody equal opportunities in
education irrespective of sex, social status, ethnic group etc. as outlined in the constitution. The focus has
been on equity.

Implementation of the new basic education system was carried out in stages between 1972 and 1975,
starting in the northern part of Finland and finishing in the southern part of the country. It was the end of
the parallel education system that labeled students as being “talented” or “untalented” after only four or
five years at elementary school. That meant an increase in educational optimism.

Adapted from: “Finnish Strategy of High-Level Education For All”
R Laukkanen, University of Laussane, 2006.

1) Are the following statements true or false? Write T or F next to the letter corresponding to the
statement and correct the false one(s).
a- The world has shown interest in the Finnish education system.
b- Young Finnish students are ranked last in different subjects.
c- It took a decade to implement the new basic education system.
d- The Finnish education system can identify good learners at an early age.

2) Inwhich paragraph is it mentioned that...
a- the impressive results achieved by the Finnish educational system have required years of work?
b- the emphasis is laid on equality and fairness?

3) Answer the following questions according to the text.
a- In which field did Finnish students achieve exceptional performance?
b- Do Finnish students pay for their education? Justify.

c- In your opinion, what is the most important in a school reform, equity or quality ? Justify.
4) Who or what do the underlined words refer to in the text?
a- that (81) b- which (82) c- that (83)

5) Give atitle to the text.

4 1 v
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B) Text Exploration (07 pts)
1) Find in the text words or phrases that are closest in meaning to the following:
a- extraordinary =..... (81) b- ensures = ..... (82) c- primary = ..... (83)

2) Divide the following words into their roots and affixes
irrespective - untalented — comprehensive

prefix root suffix

3) Ask questions which the underlined words answer.
a. Finland exceptional performance stems from long-term education policy.
b. The implementation of the new basic education system was carried out_between 1972 and
1975.

4) Classify the following words according to the stressed syllable.
a- education b- equality c- students d- arrange

1%t syllable 2" syllable 3" syllable

5) Fill in the gaps with only FOUR words from the list given
find - interact - explore - learn - activity - construct

Children are naturally curious and active. They eagerly ... (1) ... their environment and ... (2) ...
with people, which help them to ... (3) ... their understanding of the world they live in. An important way
in which they do this is through physical ... (4) ... and experiencing things at first hand.

PART TWO: WRITTEN EXPRESSION (06 points)

Choose ONE of the following topics.

Topic One:
You have been selected by the US Embassy to represent your school within a program of cultural

educational exchange. Using the following notes, write a speech of about 80 to 100 words that you will
deliver to American students on how to improve your school performance.

reduce class size

take part in recreational activities

work together with teachers to set motivation

involve parents, etc.

Topic Two:
Large numbers of children work in extremely exploitative conditions. Write an article of about 80 to

100 words to be published on your facebook page, describing to your followers how these conditions
affect the physical, mental and emotional state of the child.

"

JY) Eaagall gl
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Part One: Reading (14 points)
A) Comprehension (07pts)

Read the text carefully and do the activities.

Child labour is a pervasive problem throughout the world, especially in developing countries. It is
especially prevalent in rural areas where the capacity to enforce minimum age requirements for schooling
and work is lacking. Children work for a variety of reasons, the most important being poverty and the
induced pressure upon them to escape from this plight. Though children are not well paid, they still serve
as major contributors to family income. Schools’ inaccessibility, the lack of quality education and
traditional factors also increase child labour.

Working children are the objects of extreme exploitation. Their work conditions are extremely
severe, often not providing the stimulation for proper physical and mental development. Many of these
children endure lives of pure deprivation. However, there are problems with the intuitive solution of
immediately abolishing child labour to prevent such abuse. First, there is no international agreement
defining child labour, making it hard to isolate cases of abuse, let alone abolish them. Second, many
children may have to work in order to attend school so abolishing child labour may only hinder their
education. The state could help by making it worthwhile for a child to attend school, there must be an
economic change in the condition of a struggling family to free a child from the responsibility of working.

Adapted from: “Child Labour: Issues, Causes And Interventions”, 1995.
By Faraaz Siddigi & Harry Anthony Patrinos

1) The textis: .......... a. asurvey b. an article. c. an advert.

2) Are the following statements true or false? Write T or F next to the letter corresponding to

the statement and correct the false one(s).
a. Child labour is limited to developed countries only.

b. Lack of age requirements for schooling and work makes child labour more common in rural areas.
c. Working children’s low wages are the main source of their families’ incomes.
d. Child labour often causes children’s lack of basic needs.

3) Answer the following questions according to the text.
a. Why do children have to work?
b. What may prevent the abolishment of child labour?
c. How could the problem of child labour be solved?

4) Who or what do the underlined words refer to in the text?
a. It (81) b. this plight (81) c. them (82)

5) Thetextis: ........... a. expository  b. prescriptive c. descriptive  d. narrative

4 o 3 i
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B) Text Exploration (07 pts)
1) Find in the text words, phrases or expressions that are closest in meaning to the following:
a. apply (81) b. very (82) c. end (82)
2) Give the opposites of the following words keeping the same root.
pure - important - responsibility

3) Rewrite sentence “b” so that it means the same as sentence “a”.
A. a. If minimum age requirements for schooling are enforced, children will not have to work.

B. a. The government should abolish child labour.

b. It’s high time ..
C. a. Child labour is a V|olat|on of chlldren S rlghts therefore strlct regulatlons are to be |mplemented

D. BECAUSE OF ... iceeeeernneeeeeecessssnssssseseessssssssssssssssssssssssssssssssssssssssssssssssssssssssssns

4) Match pairs that rhyme.

A B
1. abuse a. side
2. favour b.cure
3. child C. accuse
4. pure d. labour

5) Fill in the gaps with only FOUR words from the list below:
help - abuse - working - focus - required - investigation

An analysis has led to certain implications for the international community. Further ... (1) ... into
child labour issue is ... (2) ... before calls are made for banning it. By establishing partnerships with
humanitarian organizations, the international community can ... (3)... on immediately solving the
remediable problems of ... (4) ... children.

Part Two: Written Expression. (06 points)

Choose ONE of the following topics.

Topic One:
Child labour is causing concern to all governments. Write a composition of about 80 to 100 words

showing how to deal with this problem.

The following notes may help you:

fight poverty

support poor families to educate their children
impose stringent regulations to ban child labour
sensitize families of the dangers of child labour, etc.

Topic Two:
“Children want the same things we want. To laugh, to be challenged, to be entertained, and delighted.”

Write a composition of about 80 to 100 words in which you show the impact of these factors on the
learning atmosphere.

Lf't"d\ gyasall o4l
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points Part One : Reading.
(7 pts) A/ Comprehension.
0.50 0.5 I-b.
2 0.5%4 2- a: F (Child labour is a pervasive problem throughout the world, especially in
developing countries.)
b:Tc:T d: T
3 1x3 3- a. poverty, low families income, schools inaccessibility, lack of quality education,
traditional factors, to attend school. (full mark for 4 items)
b. - no international agreement defining child labour.
- many children have to work to pay school fees.

c. The state could help by making it worthwhile for a child to attend school, There must
be an economic change in the condition of a struggling family to free a child from the
responsibility of working.

0.75 0.25%3 | 4. a. child labour (accept this answer only) b. poverty c. cases of abuse /cases
0.75 0.75 | 5. a. expository
(7 pts) B/ Text Exploration.
1.50 0.5%3 1.  a-enforce (§1) b-extremely (§2) c- abolish / abolishing (§2)
0.75 0.25x3 | 2- impure - unimportant — irresponsibility
2.75 1 3-b1 Unless minimum age requirements for schooling are enforced, children
will have to work.
1 -b2 1t’s high time the government abolished child labour.
0.75 -b3 Because of the violation of children’s rights, strict regulations are to be
implemented.
1
0.25x4 (4- 1-¢ 2-d 3-a 4-b
1 . s . .
0.25x4 | 5- 1-investigation 2-required 3-focus 4-working
(6 pts)

Part Two : Written Expression.

a Relevance Semantic Correct use Excellence Final
=3 coherence of English (vocabulary and score
<3 creativity)
&
IL 1.5 1 2 1.5 6pts
Ph

N.B the grid to be applied for both topics

1 x1 sia
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14 pts
(07 pts)
0.5
0.75
02.5 0.75
0.5
0.5 x2
01
0.75%3
2.25
0.25x3
0,75
0.5
0.5
(07 pts)
1.5 0.5%x 3
1.5
0.5x3
02 1x2

PART ONE: READING

1/ Comprehension
1. True/ False with correction
a- T
b- F - they are number one
c- F - three years / between 1972-1975

d- T -

2. Paragraph identification
a- —> §l1
b- — §2

3. Answering comprehension questions
a- mathematics, scientific knowledge, reading literature and problem solving
b- No, they don’t. Education is free
c- Both. Equity which means no discrimination according to sex, ethnic or
social groups. Quality, good education with high standards.
(accept any logical answer)

4. Cohesive devices
a. that (§1) — long-term education policy
b. which (§2) — comprehensive model
c. that (§3) — the parallel education system

5. Title of the text
Education in Finland

B/ Text Exploration

1. Synonymy
a.extraordinary = exceptional (§1)
b.ensures = guarantees (§2)
c.primary = elementary /basic(§3)

2. morphology

prefix root suffix
ir respect ive
un talent ed
1 comprehend ive

3. Grammar
a- What does Finland exceptional performance stem from?
b- When was the implementation of the new basic education system carried out?

2 1 ixin
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4. Stress
0.25%4
1%t syllable 274 gyllable 34 syllable
1 students equality - arrange education
0.25%4 5 Gap filling:
1 = explore 2 = interact 3 = construct 4 = activity
1
PART TWO: WRITTEN EXPRESSION
C ¢ Excellence
(06 pts) - Semantic R e (vocabulary | Final
Criteria | Relevance use of
Coherence Enolish and score
g creativity)
LE 1.5 1 2 1.5 06 pts.

2 o 2 mie
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La vida laboral suele ser una de las partes menos satisfactorias de nuestro dia a dia. De hecho,
suele ser una fuente de mucha frustracidén y malestar. Pero no es que trabajar en si mismo sea una
actividad desagradable. No hay que olvidar que trabajar es una manera de colaborar con el buen
funcionamiento de la sociedad, y esto deberia ser algo muy bonito, no una carga.

El problema es que la mayoria de nosotros hacemos un trabajo que no encaja bien con nuestra
manera de ser, por esto no lo disfrutamos. Por tanto, es importante hacer una buena eleccién a la
hora de elegir profesion.

Lo primero que debes tener claro es qué quieres conseguir a través de tu vida profesional:
¢Exito? ¢ Dinero? ¢Prestigio? ¢Experiencia? ¢ Tranquilidad econdmica? Todos estos objetivos son
perfectamente razonables, y todos los deseamos en mayor o menor medida, pero se quedan
completamente vacios si no van acompafiados del Unico objetivo que realmente tiene sentido por
si solo: el bienestar.

Si quieres vivir una vida satisfactoria, el bienestar debe ser siempre el objetivo que guie tus
pasos. Pasar buenos ratos el fin de semana no suele ser suficiente para tener una vida plena.

En cambio, si hacemos una tarea que nos llena, todas las horas de trabajo pasan a ser tiempo de
satisfaccion. A la hora de elegir profesion, al principio piensa sélo en lo que te gusta, no pienses en
el dinero ni en la salida que tiene, de eso ya te preocuparas después.

Juan Anguita
Experto asesor y director de recursos humanos (RRHH),
Alcalé de Henares

I) Comprension del texto: (07 ptos)
1) ¢(Qué tema plantea el texto? Y ¢Qué mensaje quiere transmitir el autor?

2) ¢Por qué se convierte el trabajo en una fuente de frustracion?

3) Segun el autor, ¢ Cuél es el objetivo final de una buena eleccion de carrera?

4) Explica la frase:

“A la hora de elegir profesion, al principio piensa solo en lo que te gusta, no pienses en el dinero
ni en la salida que tiene, de eso ya te preocuparas despues.”

I) Competencia linguistica: (08 ptos)
A) Léxico:
1) Saca del texto:

El sinénimo de: Finalidad.

El antonimo de: Fracaso.
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2) Da el adjetivo de: Prestigio.

Da el sustantivo de: Laboral.
3) Rellena los huecos con la particula adecuada: « mas-con-de-por- menos»

Los jévenes ..... hoy quieren una vida facil con ...... trabajo y ..... dinero. Ellos cuentan......
la ayuda de los padres.

B) Gramatica:
1) Escribe los verbos en el imperativo:

Ta (pensar)............. en el bienestar y no (preocuparse).............. por el dinero.
2) Transforma esta condicion real en irreal:

Si quieres vivir una vida satisfactoria, el bienestar debe ser siempre el objetivo final.
3) Introduce la expresion «Es importante que» y haz la transformacion adecuada.

Los jévenes hacen una buena eleccion a la hora de elegir profesion.
4) Pasa la frase a la forma pasiva:

Son mis padres quienes han elegido mi carrera.

I11) Produccidn escrita: (05 ptos)
Elige uno de los dos temas:
Temal:
Cristobal Coldn dice: “Encuentra la felicidad en tu trabajo o nunca seras feliz.”
Es decir que el trabajo puede ser una fuente de bienestar y felicidad en la vida de uno.
¢ Estas tu de acuerdo con lo que dice Cristdbal Colon?
Tema2:
La eleccion de la futura profesion es un debate muy frecuente entre los jovenes.
¢Por qué estudias?
¢Qué quieres ser de mayor?
¢Como justificas la eleccion de tu carrera?
¢Qué piensas de los que prefieren profesiones lucrativas y rentables?

Jo¥) ggagall gl
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Vivimos en un mundo donde el avance tecnolégico forma parte de nuestra rutina diaria. Nos
levantamos escuchando la radio, desayunamos y comemos viendo la tele y nos vamos a dormir con

el ordenador y nuestro iPod. Sin lugar a dudas que ese mundo tecnolégico nos incita a conocer
nuevas experiencias en detrimento de otras: nuestros estudios.

En lugar de disfrutar con la ultima novela de ken Follett o de interesarnos por la historia de
nuestro pais, los adolescentes buscamos otras referencias en nuestro tiempo libre: la television, los
videojuegos, el ordenador, etc. Asi pues, estamos llevando a cabo una generacion centrada en el
ocio y no en el estudio y el esfuerzo diario. Estd mas que claro que este sedentarismo!, frente a la
television y a nuestra consola, causa otros efectos que los Ilamamos secundarios como la obesidad,
el bajo rendimiento académico y, por qué no, problemas en nuestro organismo.

En definitiva, pienso que los adolescentes estamos condicionados por una gran oferta de ocio
que afecta a nuestro trabajo diario indirectamente. Por ello, estamos obligados a olvidarnos de que
habitamos en la sociedad de la comunicacion y a buscar metas lejos del sedentarismo y la oferta
tecnoldgica.

Pablo Tejera Camacho, El ocio en la adolescencia, 26/11/2010

(1): sedentarismo: estabilidad, falta de actividad, de movimiento.

I) Comprension del texto: (07 ptos)
1) Daun titulo al texto.
2) ¢Cdmo viven los adolescentes de hoy?
3) Segun el autor, ¢Cual es la solucidn para remediar a esta adiccion y aprovechar
mejor del tiempo de ocio ?
4) Comenta la frase: “Sin lugar a dudas...nuestros estudios”.

I1) Competencia linguistica: (08 ptos)
A) Léxico:
1) Saca del texto el sindnimo de: Tiempo libre - Gozar
2) Saca del texto el antdnimo de: Esencial - Demanda
3) Rellena los huecos con las palabras siguientes:
adolescencia -musica -obesidad -conciencia -novela.
-La...es una creacion literaria.
-Los jovenes de hoy se interesan mas por la...que por los estudios.
-La...es la enfermedad del siglo.
-La...es la edad de la locura.

B) Gramatica:
1) Introduce la probabilidad en la frase siguiente:
-"Estamos llevando a cabo una generacion centrada en el ocio".
2) Pon el verbo en su forma correcta:
-Cuando los jovenes sean conscientes, (tener) éxito en sus estudios.
3) Transforma la frase al estilo indirecto:
-El autor nos dice:
" Vivis en un mundo donde el avance tecnoldgico forma parte de vuestra rutina diaria".
4) Utiliza la particula causal adecuada:
-Los jovenes no se interesan por los estudios...tienen otras ocupaciones.



http://aladecolibri.blogia.com/temas/el-ocio-en-la-adolescencia.php
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I11) Produccioén escrita: (05 ptos)
Elige uno de los dos temas:
1) Debido al avance tecnoldgico, el ocio ocupa el primer lugar en la escala de valores de los
jovenes actuales. ¢Te parece légico descuidar los estudios y dedicarse mas al ocio?
2) Laadiccion a la nueva tecnologia afecta la vida personal y escolar de los jovenes.
Escribe una redaccién contestando las preguntas siguientes:
¢ Como pueden repartir el tiempo entre el ocio y los estudios?
¢ Qué actividades resultan mas beneficiosas para su desarrollo personal?
¢Qué recomiendas a tus comparieros para que se inclinen por la lectura, en vez de quedarse
conectados a facebook todo el tiempo?

-
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1) Comprension del texto:
2ptos | 1. El texto plantea el tema de la eleccion de carrera y el mensaje que el autor quiere
transmitir es saber escoger la carrera con el fin de conseguir un buen puesto de trabajo
Tptos en el futurq. ‘ .
2ptos | 2. El trabajo se convierte en una fuente de frustracion porque la mayoria de nosotros
hacemos un trabajo que no encaja bien con nuestra manera de ser, por esto no lo
disfrutamos.
Ipto | 3. El objetivo final de una buena eleccion de carrera es asegurar el bienestar.
4.Explicacion: Para elegir una profesion, lo primero es pensar en el bienestar y no en el
2ptos | dinero, porque cuando se escoge una buena carrera, se puede alcanzar el éxito, el
prestigio, la experiencia y la tranquilidad econdémica.
IT) Competencia lingiiistica:
Léxico:
ospo | 1+ rdad Ot
0.5pto )
0.5pto | 2. El adjetivo de Prestigio — Prestigioso.
0.5pto El sustantivo de Laboral — Labor.
8ptos 3. Rellenar los huecos:
2ptos Los jovenes de hoy quieren una vida facil con menos trabajo y mas dinero. Ellos
cuentan con la ayuda de los padres.
Gramatica:
Ipto 1- Piensa en el bienestar y no te preocupes por el dinero.
Ipto 2- Condicion irreal:
- Si quisieras/quisieses vivir una vida satisfactoria, el bienestar deberia ser siempre el
objetivo final.
- Si hubieras/hubieses querido vivir una vida satisfactoria,el bienstar habria debido
ser el objetivo final.
Ipto 3. Es importante que los jovenes hagan una buena eleccién a la hora de elegir profesion.
Ipto | 4. Mi carrera ha sido elegida por mis padres.
IIT) Produccidn escrita:
Sptos
Fondo Forma
2ptos -Riqueza de las ideas -Los tres parrafos (Introduccion,
-Coherencia y cohesion Desarrollo, Conclusion)
3ptos -Vocabulario rico-Correccion lingiiistica. -Formulacién de las frases
-Ortografia-Puntuacion.




2017 izt LS [ dwrl W it [aglew) 411 350 JLasY i gl Dol

() gguagall) LlaY) yualic

8ptos

Sptos

Ipto
2ptos

2ptos

2ptos

Ipto
Ipto
2ptos

Ipto
Ipto
Ipto
Ipto

2ptos

3ptos

I) Comprension del texto:

1. Titulo: El ocio en la era de la tecnologia/El ocio y el mundo tecnologico...

2. Los adolescentes de hoy se levantan escuchando la radio, desayunan y
comen viendo la tele, y se van a dormir con el ordenador y el iPod.

3....es limitar el tiempo pasado delante del ordenador y dedicarlo a la lectura
y los estudios / desconectarse del mundo de la tecnologia / liberarse de los
habitos sedentarios para no sufrir enfermedades / buscar otras alternativas de
ocio, disfrutando mejor del tiempo libre de forma productiva y sana.

4. Comentario:

No cabe duda de que las nuevas tecnologias estan al alcance de todos y nos
aportan muchos recursos. Sin embargo, los jovenes dedican su tiempo de ocio
unicamente a todo lo que se relaciona con esta tecnologia: tv, videojuegos,
Internet...sin emplear parte de este tiempo en sus estudios y sin compensarlos
con los ratos de diversion y de tiempo libre.

IT) Competencia lingiiistica:

A-Léxico:
1. Los sinénimos: Tiempo libre=Ocio Gozar=Disfrutar

2. Los antonimos: Esencial # Secundario  Demanda # Oferta
3.-Lanovelaes ...

-Los jovenes de hoy...por la musica...

-La obesidad es...

-La adolescencia es. ..

B-Gramatica:

1.Tal vez/Acaso/Quizés/Es probable que/Puede que...estemos llevando...
2. Cuando los jovenes...sean...,tendran

3. El autor nos dice que vivimos...forma...nuestra rutina...

4. Los jovenes...porque/ya que /puesto que...

IIT) Produccion escrita:

Forma (cohesion)
Hacer una produccion estructurada(introduccion/desarrollo/conclusion)

Fondo (coherencia)

-Dominar las reglas del discurso y de la cohesion.

-Coherencia y encadenamiento logico de las ideas mediante argumentos.
-Uso adecuado y correccion de la lengua (competencia lingliistica).




-

Oldldly Oblue sbgll O1gd!
2017 :dgdliwy! 89l

dob ) dg il 8139
S kel Ly IS Olowsal

il O\ daid!
3305 L 03 :5ull AW Al 8ol G ylas

oY) G g gal) aaf Ay o) mdial) e
Jo¥) ggasal

Noch vor einigen hundert Jahren wussten die Menschen nicht, dass es Elektrizitat gibt.
Elektrische Ph&nomene in der Natur wie Blitz und Donner waren fiir sie unerklarbar. Der
Siegeszug“des elektrischen Stroms begann am Anfang des 20. Jahrhunderts. Mit der Erfindung des
elektrischen Lichts und der Stromversorgung” von groRen Flachen, so dass man den elektrischen
Strom zu Hause bekommt, fiihrte zu einer Entwicklung, die man nicht kontrollieren kann. Heute
konnen wir uns kaum mehr vorstellen, wie die Welt ohne Elektrizitat aussah. Kein Auto wirde
fahren, keine Ampel funktionieren, keine Stralenlaterne leuchten. In Hochh&usern wirden
Aufzige, im Krankenhaus wichtige medizinische Geréte fehlen, ganz abgesehen von Kiihlgeraten,
die man zu Hause benutzt wie Kihlschranke, Klimaanlagen und Licht. So kann wirklich die
Abwesenheit vom elektrischen Strom das moderne Leben von Menschen stoppen. Dazu liefert der
elektrische Strom eine saubere Energie, die das Leben von Menschen entwickelt, aber auch ihm
nicht schadet. Man muss dabei nur darauf achten, dass der Strom nicht aus fossilen Brennstoffen”
wie Erdgas, Kohl und Atomkraft produziert wird, sondern aus natirlichen Quellen wie Wind,
Wasser und Sonne.

Aus: www. Planet-wissen. de (verarbeitet)

*der Siegeszug: Le grand succes / ,aldl zladl)
*die Stromversorgung: L'approvisionnement en courant / sk gl Jlaay)
*fossilen Brennstoffen: fossiles combustibles / s_séa¥) a g8 ol

I- Textverstandnis: (07 Pte)
1) Richtig oder falsch? Begrinden Sie Ihre Antwort mit einem Zitat aus dem Text.

R |F
a) Schon friher benutzten Menschen den Elektrizitatsstrom.
A | P
b) Der elektrische Strom ist in vielen Bereichen notwendig.
A | LT
c) Der elektrische Strom produziert eine schédliche Energie.
A | - P
d) Man kann Strom nur aus fossilen Brennstoffen produzieren.
A | - | P
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2) Fragen zum Text:
1) Wann war der Anfang der Entwicklung vom elektrischen Strom?
2) Was kann die Abwesenheit des Stroms verursachen?
3) Erklaren Sie den folgenden Satz: ,,So kann wirklich die Abwesenheit vom elektrischen
Strom das moderne Leben von Menschen stoppen‘.
3) kombinieren Sie.

1) Blitz und Donner a) Strom
2) Kihlgerét b) Wind, Sonne, Wasser
3) Elektrizitat ¢) Naturph&nomene
4) saubere Energie d) Klimaanlage
1 2 3 4

4) Geben Sie dem Texteinen Titel. © covvveiieiiiiiiieiineiennennns

I1- Sprachféhigkeit: (08 Pte)
A. Wortschatz
1) Ersetzen Sie das unterstrichene Wort durch ein Synonym aus dem Text.
Die Erfolgsserie des elektrischen Stroms fing erst in der neuen Zeit an.
2) Erganzen Sie das Gegenteil des unterstrichenen Wortes aus dem Text.
Die Anwesenheit der Elektrizitat vereinfacht das Leben, aber ihre ... stoppt die Entwicklung.
3)Wortbildung.
a) Bilden Sie aus dem folgenden Verb das passende Substantiv.
vorstellen: .........
b) Bilden Sie aus dem folgenden Adjektiv das passende Substantiv .
sauber :.........
4) Ubersetzen Sie ins Arabische.
,,Heute kdnnen wir uns kaum mehr vorstellen, wie die Welt ohne Elektrizitat aussah*.
B. Grammatik .
1) Setzen Sie ins Perfekt .
Der Mensch kann den technischen Fortschritt nicht stoppen.
2) Setzen Sie ins Passiv .
Man benutzt heutzutage den elektrischen Strom zu Hause.
3) Bilden Sie einen Relativsatz.
Der elektrische Strom ist unentbehrlich. Seine Entwicklung begann Anfang des 20.
Jahrhunderts.
4) Deklinieren Sie.
D... Erfindung d... elektrisch.... Strom... hat d..... Leben von Menschen entwickelt.

I11-_Schreibfdhigkeit: (05 Pte) (Ein Thema zur Wahl)
Thema 1: Der technische Fortschritt hat das Leben von Menschen stark beeinflusst.
Schreiben Sie ein paar Zeilen tiber seine Vor- und Nachteile.
Thema 2: Wie sehen Sie ein Leben ohne Elektrizitdt? Mit Hilfe folgender Stichpunkte schreiben
Sie ein paar Zeilen dazu.
- Keine neuen Kommunikationsmittel.
- Anstrengende Reisen.
- Keine entwickelten medizinischen Gerate.
- Schwere Arbeit fur Hausfrauen.
- Keine aktuellen Informationen. JsY) gaaagall g
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Innerhalb weniger Jahre sind Handys als kleine elektronische Geréte in der Welt bekannt
geworden. Das Handy wurde hauptsédchlich zum Telefonieren, oder zum Versenden von
Kurznachrichten genutzt. Doch nicht nur die Technik im Allgemeinen, auch die Handys haben sich
im Laufe der Zeit weiterentwickelt und sind fir viele zu einem unverzichtbaren* Alltags
Gegenstand* geworden.

Fur wen ist also ein Handy geeignet? Ein Handy ist wirklich fir jeden geeignet*. Der
Geschaftsmann kann von jedem Ort der Welt seine E-Mails versenden. Die Hausfrau kann mit
Hilfe ihres Handys schnell und einfach Kochrezepte runterladen. Kinder, Jugendliche und
Erwachsene kénnen ihre Freunde und Familien jederzeit anrufen und Gberall erreichen. Man kann
fast unabhéngig vom Ort und zu jederzeit direkt mit dem gewinschten Gespréchspartner
kommunizieren. Das Handy begleitet uns bei jeder Aktivitat. Wichtige Informationen lassen sich
innerhalb von Sekunden Uber das Handy abrufen. Schéne Momente im Leben kdnnen festgehalten
und direkt online veréffentlicht werden. Auch in Notsituationen kann das Mobil-telefon nitzlich
sein. Das Handy sollte jedoch unsere Unabhangigkeit nicht einschréanken, unsere Freiheit und Ruhe
nicht storen, deswegen ist es notwendig, ein gewisses Verantwortungsbewusstsein im Umgang mit
dem Handy zu zeigen und Regeln zu respektieren. Werden wir ein Tag das Handy so leicht los?
Aus: Wikipedia (verarbeitet)
*unverzichtbar: Inévitable /4 iV
*geeignet: convenable [alia

™

*Gegenstand: objet I

I- Textverstandnis: (07 Pte)
1) Richtig oder falsch? Begrinden Sie Ihre Antwort mit einem Zitat aus dem Text.
R| F

a.) Das Handy ist seit vielen Jahren als elektronischer Apparat in der Welt
bekannt.

A | 2 | o PP
b) Anfangs wurde das Handy nur zum Telefonieren genutzt.

A | 2 | T
c) Alle Menschen konnen das Handy verwenden.

A | 2 | o TP
d) Das Handy hat nur Vorteile.

A | 2 | o PP

2) Fragen zum Text.

1) Wozu wurde das Handy hauptséchlich genutzt?

2) Welche Vorteile hat das Handy? Zitieren Sie zwei Beispiele aus dem Text.

3) Erklaren Sie den folgenden Satz: ,,Das Handy begleitet uns bei jeder Aktivitat*.
3) Kombinieren Sie.

1) Videospiele a) recherchieren

2) Telefon b) anrufen 1 2 3 4
3) SMS c) machen

4) Internet d) schreiben

4) Geben Sie dem Text €iNen Titel. cuveeiriiieiieiiiiieiieiieiietieteatintencancens
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I1- Sprachfahigkeit (08 Pte)
A. Wortschatz.
1) Ersetzen Sie das unterstrichene Wort durch ein Synonym aus dem Tex
Die Jugendlichen schicken taglich hunderte SMS.
2) Ergénzen Sie das Gegenteil des unterstrichenen Wortes aus dem Text.
Heute verbringen die Jugendlichen viel Zeit mit dem Handy, dagegen lesen sie ....
3) Bilden Sie aus diesen Verben die passenden Substantive.
storen: ...l
kommunizieren: ....................
4) Ubersetzen Sie ins Arabische.
,Die Handys haben sich im Laufe der Zeit weiterentwickelt .

B. Grammatik.
1) Setzen Sie ins Perfekt.
Das Handy ist notwendig in unserem Leben.
2) Setzen Sie ins Aktiv.
Die Kinder kénnen von den Eltern leicht erreicht werden.
3) Erganzen Sie mit dem passenden Relativpronomen.
Die Kinder,... zu viel im Internet surfen, haben schlechte Schulleistungen.
4) Bilden Sie einen Konditionalsatz.
Das Handy begrenzt unsere Unabhangigkeit. Wir sind nicht frei.

I11- Schreibfahigkeit: (05 Pte) ( Ein Thema zur Wahl)
Themal: Wie benutzen Sie personlich das Handy in Ihrem Alltagsleben?
Schreiben Sie ein paar Zeilen dazu.
Thema?2: Das Handy hat sicher unser Leben im Bereich der Kommunikation vereinfacht. Aber es
hat doch Nachteile. Welche? Mit Hilfe folgender Stichpunkte schreiben Sie ein paar Zeilen dazu.
- Zeit verlieren
- Hohe Handykosten
- Stress verursachen
- Das Handy stort:lautes telefonieren(in den 6ffentlichen Verkehrsmitteln, ...),
Handyklingeln (im unterricht).
- Schulprobleme (schlechte Schulleistungen)
- Gefahr beim Autofahren

(A g9 gall g
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I- Textverstindnis
1. Richtig oder falsch?
0.50x4 | a- falsch:( Noch vor einigen ...... dass es Elektrizitit gibt).
b- richtig:( Kein Auto wiirde .... Klimaanlagen und Licht).
c- falsch:( Dazu liefert der elektrische Strom eine saubere Energie).
d- falsch:(..., dass der Strom nicht aus fossilen ...... Wind, Wasser und Sonne).
2. Antworten zum Text
1. Der Anfang der Entwicklung vom elektrischen Strom war Anfang des 20. Jahrhunderts.
07Pte 2.Die Abwesenheit des Stroms kann folgendes verursachen:
013 Kein Auto wiirde fahren, keine Ampel funktionieren, keine Straflenlaterne leuchten. In
X Hochhédusern wiirden Aufziige, im Krankenhaus wichtige medizinische Gerite fehlen, ganz
abgesehen von Kiihlgeriten, die man zu Hause benutzt wie Kiihlschrianke, Klimaanlagen
und Licht.
3. Die Satzerkldrung: Der elektrische Strom ist unentbehrlich geworden, weil viele Geréte
in den verschiedenen lebenswichtigen Bereichen mit Strom funktionieren.
3. Kombination.
0,25x4 1-c 2-d 3-a 4-b
01 Titel: Wichtigkeit des elektrischen Stroms.(andere Titel werden beriicksichtigt)
II- Sprachfiihigkeit
A. Wortschatz
Synonym: - begann
0,5x2 | Gegenteil: die Abwesenheit
08Pte 0.5x2 Substantiv aus dem Verb: vorstellen=  die Vorstellung
’of Substantiv aus dem Adjektiv: sauber = die Sauberkeit
Ubersetzung: b xS (52 plle ) sl ol LSy Y
B- Grammatik
01.50 Perfekt: Der Mensch hat ................... stoppen konnen
0 1’ 50 Passiv: Der elektrische Strom wird heutzutage zu Hause benutzt
0’1 Relativsatz: Der elektrische Strom, dessen Entwicklung Anfang des 20.
0.25x4 Jahrhunderts begann, ist unentbehrlich.
223 Deklination: die Erfindung des elektrischen Stroms hat das Leben...
III- Schreibfihigkeit
05Pte g; _ Plan
- Orthografie / Stil / Ideen /
01 .
- Grammatik

11 dnin




2017 : dilemal 8y93 Al W idddt [ UYL B3l jlast [ LIS B3lgd 10bual £ giosh B dgedl Ll Yl

-

edlad 3L 2 gal) — LAY jualic
£ gana 51 e =) E s e L
I. TEXTVERSTANDNIS.
0,5x4 1. Richtig oder falsch?
a. Falsch. (Innerhalb weniger Jahre sind Handys als kleine elektronische
Gerite in der Welt bekannt geworden.)
b. Falsch. (Das Handy wurde hauptsidchlich zum Telefonieren, oder zum
Versenden von Kurznachrichten genutzt.)
07 PTE c. Richtig. (Ein Handy ist wirklich fiir jeden geeignet.)
d. Falsch. (Das Handy sollte jedoch unsere Unabhéngigkeit nicht
einschrianken, unsere Freiheit und Ruhe nicht stéren.)
2. Antworten zum Text.
1x3 1. Das Handy wurde hauptsichlich zum Telefonieren, oder zum Versenden
von Kurznachrichten genutzt.
2. Das Handy hat viele Vorteile: Der Geschédftsmann kann von jedem Ort der
Welt seine E-Mails versenden./. Kinder, Jugendliche und Erwachsene konnen
ihre Freunde und Familien jeder Zeit anrufen und iiberall erreichen.) Andere
Beispiele sind zu beriicksichtigen.
3. Satzerklirung: Wir benutzen das Mobiltelefon in allen Situationen.
0,25x 4 (Andere Antworten sind zu beriicksichtigen)
3. Kombination. 1c/2b/3d/ 4a
4.Titel: Das Handy/die Vorteile des Handys /Das Handy ,ein unverzichtbares
; Begleiter. (Andere Titel sind zu beriicksichtigen)
II. SPRACHFAHIGKEIT.
08 PTE A. Wortschatz.
1. das Synonym: schicken = versenden
0,5 2. das Gegenteil: viel # wenig
0,5 3. Wortbildung: die Substantive: die Storung ; die Kommunikation
0,5x2 4. die Ubersetzung ins Arabische :
1 gl 5 pe gn | patiena |y sl NG ) sl ang.d
B. Grammatik.
1. Das Perfekt: Das Handy ist notwendig in unserem Leben gewesen.
1 2. Die Aktivform: Die Eltern konnen die Kinder leicht erreichen.
L5 3. Das Relativpronomen: Die Kinder, die zu viel im Internet surfen, haben
1 schlechte Schulleistungen.
4. Der Konditionalsatz: Wenn das Handy unsere Unabhéngigkeit nicht
begrenzen wiirde, wiiren wir frei. Oder Wenn das Handy unsere
L5 Unabhingigkeit nicht begrenzte, wiren wir frei.
I11. SCHREIBFAHIGKEIT.
05 PTE . Plan
3 Orthografie/ Stil / Ideen.
1 Grammatik

1.1 dmiv
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Leggi attentamente il testo seguente e rispondi alle domande:
Pizzafest

Ogni anno, a meta settembre, a Napoli c’e il Pizzafest. Per 10 giorni e possibile mangiare pizze di

tutti i tipi, fatte dai migliori pizzaioli napoletani!
Il pizzafest & nato nel 1989, per festeggiare i 100 anni della pizza. Nel 1889, infatti, un pizzaiolo
napoletano creo! la pizza margherita per onorare la regina d’Italia Margherita di Savoia. Di anno in anno,
il Pizzafest diventa sempre piu grande e si svolge anche all’estero, come in Belgio, in Spagna, in
Germania, in Giappone e in Messico.

Ogni pizzaiolo, al Pizzafest, cuoce molti tipi di pizza, anche molto strani e originali, ma tutti sono
attenti alla qualita. La vera pizza napoletana, infatti, ha regole ben precise e ingredienti di grande qualita,
dall’olio alla farina al pomodoro. Ogni anno 100.000 persone visitano il Pizzafest. Alla fine, il concorso
“vota la pizza” premia il pizzaiolo piu bravo. Durante il pizzafest ci sono anche molti concerti e
spettacoli.

La pasta della vera pizza napoletana va fatta con acqua, farina di grano, sale e lievito?> e viene
stesa con le mani. La pizza deve essere rotonda, alta 1 centimetro e larga 30 centimetri. Si cuoce in forno
alegna’.

Da —Ciao, Settembre-ottobre 2010.

1-cred: creare (inventer, créer) /s JsY¥ aia
2-lievito: levure /Al 3yl
3-legna: bois / il

I-COMPRENSIONE DEL TESTO: (07 pti)

1-Quando e dove si svolge il Pizzafest?

2-Perche é nata questa festa? Per quale occasione é stata creata la pizza margherita?
3-Chi viene premiato durante questa manifestazione?

4-Secondo te, quali sono le qualita di un buon pizzaiolo?

4 1 v
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II-COMPETENZA LINGUISTICA: (08 pti)

A-Lessico:
1-Trova nel testo:
a-1 sinonimi di:

norme =............... (82) ricompensa=.............. (82)
b-1 contrari di:
peggiori # ............ (81) falsa# .................. (83)
2-Inserisci il sostantivo di riferimento:
Aggettivo Sostantivo
grande |
larga |

3-Che vuol dire I’espressione sottolineata?
« ...ingredienti di grande qualita...»
a-di pessima qualita. b-di media qualita. c-di ottima qualita.
4-Metti al posto dei puntini le parole mancanti:
pomodoro — mozzarella — bandiera — verde
La pizza margherita € tricolore come la ..................... italiana: il ..................... del basilico, il
biancodella..................... eilrossodel ..................... .

B-Grammatica:
1-Metti all’imperfetto i verbi tra parentesi:
«Il Pizzafest (diventa) sempre piu grande e (si svolge) anche all’estero.»
2-Metti gli indefiniti al posto giusto:
tanta — alcuni — tutta — qualche
a-leri ho comprato ............... libri.
b-Mangia ............... la zuppal
c-Ho letto ............... rivista.
d-Ce.cocverrennn gente.
3- Inserisci nello spazio I’avverbio di luogo adeguato:
VaiaRoma? Sy, .............. vado domani .
4-Scegli il possessivo corretto:
-La tua/ Il tuo pasta e buonissima!
-Le mie / I miei lasagne sono vegetariane.

111-PRODUZIONE SCRITTA: (05 pti)

Svolgi a scelta uno dei temi seguenti.(da 80 a 100 parole)
Tema 1:
In nqualche riga, prova a descrivere un piatto tipico della tua regione o che ti piace particolarmente.
Tema 2:
Gli algerini apprezzano la buona cucina, amano cucinare e stare a tavola a mangiare.
-Mangi spesso fuori? Perché?
-In che locali vai?
-Che cosa prendi di solito?
-Sei soddisfato del servizio?

JY) £ gua gl g0

4 o2 dmie
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Leggi attentamente il testo seguente e rispondi alle domande:

CATERINA

Mi sono sposato a diciott'anni e tutto avrei potuto prevedere fuorché il cambiamento che piu tardi
doveva verificarsi nel carattere di Caterina. La sua qualita non era di essere bella, ma di essere dolce. Era
paziente, sottomessa, piena di belle maniere e di grazia. La sua dolcezza era conosciuta in tutto il
quartiere. Mia madre abitava di sotto, a pianterreno' avevamo il negozio di pane e pasta, e cosi
lavoravamo e abitavamo tutti nella stessa casa.

Dopo due anni di matrimonio era chiaro che Caterina non poteva avere figli. Volevamo un figlio e,
quando non € venuto, anzitutto ne abbiamo discusso in famiglia, quindi ci siamo fatti coraggio e siamo
andati da un primo medico, poi da un secondo, e poi da un terzo e poi Caterina ha fatto certe cure molto
costose e alla fine abbiamo capito che non serviva a nulla.Caterina in quel tempo, infatti, ha cominciato a
cambiare carattere. Prima ha cessato semplicemente di essere dolce; poi, in seguito, € diventata ostile,
aggressiva, rabbiosa.

Eppure non l'odiavo, anzi mi faceva compassione?, perché capivo che era piu forte di lei. Era la
natura che la travagliava a quel modo e la metteva fuori di sé, e questo si vedeva soprattutto nel suo modo
di camminare e di guardare. Adesso la gente del vicinato non diceva pit che mi ero sposato una santa;
tutti sapevano che invece mi ero messo in casa un diavolo.

Adattato da A. Moravia, Racconti Romani, Caterina.

Pianterreno: rez- de chauszsée / <a ¥ Gl
Compassione: compassion | 43ié cake

I-COMPRENSIONE DEL TESTO: (07 pti )

1-Che tipo di negozio hanno Caterina e suo marito?

2-Com’e cambiato il carattere di Caterina?

3-Qual ¢ la causa di questo cambiamento?

4-Cosa significa la frase seguente: Era la natura che la travagliava a quel modo e la metteva fuori di sé e
questo si vedeva soprattutto nel suo modo di camminare e di guardare.

4 o 3 i
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11-COMPETENZA LINGUISTICA : (08 pti)

A.LESSICO:
1-Trova nel testo
a-i sinonimidi :
Nervosa=.................. (82) detestavo=.................. (83)
b-i contrari:
difetto#.................. (81) dentro£.................. (83)
2- Completta la tabella:
Aggettivo sostantivo Verbo all’infinito
rabbiosa/o | s |

3-La parola “anzitutto” significa:

O prima O poi O infine

4-Completa il brano con le parole mancanti.
nonni- si sposano- familiale- paterna

La famiglia italiana moderna & composta da genitori e uno o due figli, raramente, almeno nell’ltalia
settentrionale, da piu di due figli. Il legame ..., e ancora oggi molto forte. Tutta la famiglia
si riunisce ogni giorno, almeno a cena, intorno allo stesso tavolo.l ..............ccccccccouu...... , Specialmente se sono
vedovi vivono in casa con uno dei figli e partecipano attivamente nella vita familiare. | giovani vivono
spesso fino ai trent’anni a casa dei genitori e lasciano la casa ... solo quando

B-GRAMMATICA:
1-Metti all’imperativo i verbi tra parentesi:
Caterina, non (offendere) .........cccceveeee. tuo marito, lo (trattare) .................... bene.
2-A che cosa si riferisce il pronome diretto « la » scritto in grassetto nel testo.
la siriferisci ai......ccoovvevivernennnne. :
3-Trova nel testo un avverbio di modo:
L avverbio di modo:.......cccccevvviveveneneereeee :
4-Completa con «ci vuole» o «ci vogliono».
Per mantenere una famiglia NUMErosa ..........c.cccoceveeee, molti soldi.

I11- PRODUZIONE SCRITTA: (05 pti)

Svolgi a scelta uno dei temi seguenti.(da 80 a 100 parole)

Tema 1:

La presenza di un figlio avrebbe reso felice Caterina, avrebbe creato un’atmosfera familiale molto
allegra.

La tua famiglia, invece, € numerosa o piccola come quella di Caterina? Prova a descriverla in qualche
riga.
Tema 2:

Nella nostra societa la donna che e incapace di far nascere i figli, quotidianamente fronteggia diversi
ostacoli e problemi.

In questa situazione descrivi:

-1l comportamento di questa donna.

- La reazione del marito per risolvere questo problema.

- Come sarebbe vista dai suoi vicini e dalla sua societa?

- Qualche consiglio e soluzione per aiutarla a vivere una vita ordinaria.

AU Eaagall g
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I-COMPRENSIONE DEL TESTO:
07 pti 1x2 | 1-II pizzafest si svolge ogni anno a meta settembre / a Napoli
1x2 | 2-Questa festa ¢ stata creata per festeggiare i 100 anni della pizza.
La pizza margherita ¢ stata creata per onorare la regina d’Italia Margherita di
Savoia.
01 3-Durante questa manifestazione viene premiato il pizzaiolo piu bravo.
02 4-Secondo me, per essere un buon pizzaiolo bisogna:
-Saper preparare un buon impasto.
-Scegliere ingredienti di buona qualita.
-Cuocere la pizza in forno a legna.
-Essere motivato e preparato per il mestiere di pizzaiolo.(Si accittano altre
risposte giuste e giustificate)
08 pti II-COMPETENZA LINGUISTICA:
A-Lessico:
0.25x4 | 1- norme = regole (§2) ricompensa = premia (§2 )
peggiori # migliori (§1) falsa # vera (§3)
0.5x2 | 2-
Aggettivo Sostantivo
grande grandezza
larga larghezza
01 3- c-di ottima qualita.
0.25x4 | 4- bandiera  -verde - mozzarella -pomodoro
B-Grammatica:
0.5x2 | 1-
-diventava -si svolgeva
0.25x4 | 2-
-alcuni  -tutta -qualche -tanta
01 3-
-Ci
4-
0.5x2 | -Latua -Le mie
05 oti III-PRODUZIONE SCRITTA:
pt Forma (02 pti) Fondo (03 pti)
-La divisione in paragrafi -Ricchezza delle idee.
(introduzione,contenuto, conclusione). -Ricchezza del lessico.
-Rispettare la punteggiatura. -La coerenza delle idee.
-Rispettare la struttura delle frasi + il -Correttezza linguistica.
vocabolario. - Adeguatezza e coerenza
- Lunghezza (da 80 a 100 parole) dell’espressione e rispetto del filo
conduttore nel caso della prova
semiguidata.
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Tpti

8pti

Spti

1.5
02

1,5
02

4x0.25

2x0.5

4x0.25

01

2x0.5

01

01

01

I - COMPRENSIONE DEL TESTO
1-Caterina e suo marito hanno un negozio di pane e pasta.
2-Prima Caterina era paziente, sottomessa e piena di belle maniere e di grazia. In
seguito ¢ diventata ostile, aggressiva e rabbiosa.
3-La causa di questo cambiamento ¢ la sua incapacita di avere figli.
4-La situazione nella qualle si trovava Caterina I’ha spinto a cambiare e a tormentare il
suo comportamento, la faceva una persona sragionevole, si ragionasva senza logica e
questo si vedeva nel suo camminare e guardare. .(Si accittano altre risposte giuste e
giustificate)
II-COMPETENZA LINGUISTICHA :
A-LESSICO:
1-Trova nel testo.
a-i sinonimidi :
nervosa = rabbiosa (§2) detestavo=odiavo (§3)
b-i contrari:
difetto #qualita (§1) dentro# fuori(§3)
2- Completta la tabella:

Aggettivo sostantivo Verbo all’infinito

Rabbiosa/o rabbia arrabbiare

3-Completa il brano con le parole mancanti.
familiale- I nonni- paterna- si sposano.
4- La parola “anzitutto” significa

O  prima
B-GRAMMATICA:
1- Metti all’imperativo i verbi tra parentesi:
Caterina, non offendere tuo marito, trattalo bene
2- A che cosa si riferisce il pronome diretto « la » scritto in grassetto nel testo.
«la» siriferisce a Caterina.
3-Trova nel testo un avverbio di modo:

L’avverbio di modo:cambiamento, semlecemente.
4-Completare con “ci vuole” o “ci vogliono”.
Per mantenere una famiglia numerosa ci vogliono molti soldi.
III-Produzione scritta:

Forma (02 pti) Fondo (03 pti)

-La divisione in paragrafi -Ricchezza delle idee.
(introduzione,contenuto, conclusione). -Ricchezza del lessico.
-Rispettare la punteggiatura. -La coerenza delle idee.
-Rispettare la struttura delle frasi + il -Correttezza linguistica.
vocabolario. - Adeguatezza e coerenza

- Lunghezza (da 80 a 100 parole) dell’espressione e rispetto del filo
conduttore nel caso della prova
semiguidata.

101 i
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Adris s teqbaylit:
Attan n ubehri
“Attan n ubehri d yiwen n lehlak i inettden seg umdan yer wayed ; s ubrid n usnuffes.
Attan-a yettili-d deg yal tasemhuyt ; acu kan yettaf iman-is deg tegrest. ”

Tamentilt-ines, d yiwen n unfafad (abirus) ur nerkid ara, yettbeddil tayara s lemyawla.
Daymi yueer nezzeh yef yimusnawen n tujjya ad d-afen acrad ara yessehbibren yef tezmert n
umdan 100 %.

Yal aseggas, imusnawen snulfuyen-d iceqgaren (ddwawi) imaynuten ara ibedden mgal
attan-a n ubehri, maca ar tura ulac win 1 t-yessehluyen akken 1 ilag. Attan n ubehri, yezmer ad yili
yueer mlih ladya yer yimdanen ur neghid ara ney wid ur nesei tazmert yeqqwan am yimyaren d
warrac imectah.Yezmer ad yessiwed amdan yer Imut. I[gemmad i d-yettunefken mmalen-d belli
macéi d yiwen ney d sin i ineqq lehlak n ubehri acu kan taggara-ya, nnulfant-d kra n ddwawi,
yewwi-d yef umdan uyur d-banent tmitar (ticrad) n wattan-a, ad tent-isew ugbel ad yay deg-S
wattan akken ilaq.

Abehri d attan 1 inettden s sshala, d lehlak 1 yetthazan ahric n usnuffes deg tfekka n umdan
am: tayect, anzaren, agemmuc, idmaren akked turin. Tamentilt-ines d yiwen n unfafad i d-yettilin
s krad (03) n talyiwin (A. B. C).

Attan n ubehri inetted seg umdan yer wayed s ssebba n ubirus-nni. Aneggaru-ya yettili deg
tmigwa n yisusfan ney n yimetman i yetteummun deg uzwu. Syin yur-s ad yekcem deg wanzaren
ney deg ugemmuc alamma yewwed yer turin, dya ad yebdu ad yettnerni deg yimedqgan-a alamma
yufa-d abrid amek ara yekcem deg yidammen. Win i ihuza wattan-a, yettban-d fell-as akken
iwata, imi llant watas n tmitar i t-id-yettbeyyinen : aqrah n ugerruy, aqrah n tayect, tawla, tussut,
eeyyu...atg. Timitar-a tteawanent imejjayen akken ad d-afen attan akked yisafaren i as-ilagen.

Yal mi ara d-tawed tegrest, atas n yimdanen i yetthaz lehlak-a am warrac imectah. Anect-a
yezmer ad d-yeglu s watas n wuguren-nniden i tezmert n umdan, ladya yer wid i yesean attanen-
nniden am: attan n ssker, n wul, n buneggaf ... d warrac i mazal ttettden; anfafad-a n wattan n
ubehri yettaf iman-is akken ilagq deg-sen imi tignatin akk ara t-yeggen ad yennerni, llant.

Ihi yewwi-d kan yef umdan ad yessehbiber yef yiman-is ugbel ad yeyli deg wattan.

Kecili Karim, Aymis tiyremt.
Uttun 05, Mayyu, 2015, sb.15
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Isestanen :

I/ Tigzi n udris (06)
1. Amek i yettadef (ikeccem) wattan n ubehri yer tfekka n umdan ?

2. Kkes-d seg udris ukuz (04) n tmitar (ticrad) swayes nezmer ad neegel amdan ihuza wattan-
a n ubehri.

3. Ayyer i inetted wattan n ubehri s sshala ?

4. D acu i d tamentilt (ssebba) i yeggan imejjayen ur d-ufin ara acrad (ddwa) iwulmen i

wattan-a ?
11/ Tutlayt (06)
1. Céar tafelwit-a :
Talya taherfit Isem n tigawt Isem n umeskar
(n umigaw)
Issin | s |
Kecem | e | e,

2. Sled tafyirt-a ilmend n talya d twuri : ad tent-isew.
3. Semmi-d isumar n tefyirt-a, tinid-d d acu i d-temmal tesyunt i ten-yeqqnen.

- Timitar-a tteawanent imejjayen akken ad d-afen attan.

111/ Afares s tira (08)
Ihi yewwi-d kan yef umdan ad yessehbiber yef yiman-is ugbel ad yeyli deg wattan.
Atas n wattanen i yetthazan amdan, gellun-d s wuguren imeqgranen i tezmert-is.

Aru-d adris ideg ara d-tessegzid yiwen seg wattanen-a.

16 . 2 iriw
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Adris s tcawit:
Adan n ubehri

“Adan n ubehri d yeg seg wadanen i inettden seg umdan yer wayed ; s ubrid n utneffes.
Adan-aya yettili deg yal imri ; maca yettaf iman-nnes deg tejrest.”

Tamentilt-nnes, d cra n ucta (virus) ud yettrusen ca, yettbeddal tayara s zzerban. Seg
wamma i yueer gut yef yimussnawen n tujjya ad d-afen acrad (aleqqeh) ad iherzen tadawsit
(tazmert) n umdan 100 % .

Yal aseggas, imussnawen ssnulfayen-d isafaren (ddwawat) d itraren ad ibedden mgal
adan-aya n ubehri, maca al imir-a ulac win i t-yessrahan mammek i yuma. Adan n ubehri, yezmer
ad yili yueer mlih awalya yer yimdanen ur yegdiren ca ney yya ur yesein ca tadawsit yeqwan am
yimyaren d dderyet imezzyanen. Yezmer ad yessiwed amdan yer tmettant. Igemmad i d-
yemmucen mmalen-d belli maci d yeg ney d sen i ineqq acta-aya n wadan n ubehri besseh tagara-
ya, nnulfan-d cra n yisafaren, yuma yef umdan iyef d-banent tmitar n wadan-aya ad tent-isew
zdat ad yay deg-s wadan ammin i yuma.

Abehri d adan i inettden s zzerban, d adan 1 itettfen ahric n utneffes deg tfekka n umdan
am : tmigga, anzaren, imi, idmaren akked turawin. Tamentilt-nnes d yeg n ucta i d-yettasen s krad
(03) n talyiwin (A. B. C).

Adan n ubehri inetted seg umdan yer wayed s sebbet n acta-din. avirus-aya, Vettili deg
tmeqqgay n tsusaf i yetteumman deg uzwu. Sseydin ad yadef deg wanzaren ney deg yimi kisma
yewwed yer turawin, imer-din ad yebdu yettnerni deg yimdigen-aya kisma yufa-d abrid mammek
ad yadef deg yidammen.Win i yettef wadan-aya, yettban-d fell-as ammin iwata, imi llant gut n
tmitar i t-id-yettbeyyanen : sster n yixef, d yiri, times, tusit, leeya...atg. Timitar-aya tteawanent
imejjayen bac ad d-afen adan akked yisafaren i as-ilezmen.

Yal mi aha d-tawed tejrest, aneqgad n yimdanen i itettef Imerd-aya am dderyet imezzyanen.
Anect-a yezmer ad d-iwella s labas n wuguren-yyid i tdawsit n umdan, awalya yer yya i yesean
adanen-nniden am : wadan n ssuker, n wul, d llazem ... d dderyet i itettden ; acta-aya n wadan n
ubehri yettaf iman-nnes mlih deg-sen acku tignatin akk aha t-yeggen ad yennerni, llant.

Thi yuma bark yef umdan ad ihafed yef yiman-nnes, zdat ad yadu deg wadan-aya.

Kecili Karim, Aymis tiyremt.
Uttun 05, Mayyu, 2015, sb.15
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Isestanen :

I/ Tigzi n udris: (06)

1. Mammek i yettadef wadan n ubehri yer tfekka n umdan?

2. Kkes- seg udris ukuz (04) n tmitar(lumayer) s matta nezmer ad neegel win yettef wadan-
aya n ubehri.

3. Mayef i inetted wadan n ubehri s zzerban?

4. Matta tella tmentilt i yeggin imejjayen ( itbiben ) ur d-ufin ca ddwa iwatan adan-aya?

11/ Tutlayt: (06)

1. Céar tafelwit-a :

Talya taherfit Isem n tigawt Isem n umeskar

SSenN | e i,

Adef |

2. Sled tafyirt-a ilmend n talya d twuri : “Ad tent-isew”.
3. Semma-d isumar n tefyirt-a, tinid-d matta i d-temmal tesyunt i ten-yeqqnen.

- Timitar-a tteawanent imejjayen bac ad d-afen adan.

I11/ Afares s tira: (08)

Yuma yef umdan ad yehrez iman-nnes zdat ad t-yettef wadan.
Gut n wadanen 1 itettfen amdan, ttawin-d uguren d imeqgranen i tdawsit-nnes.
Ari-d adris ideg aha d-tessegzid yeg seg wadanen-a.

16 ;» 6 iniw
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Adris s tegbaylit :

Tamsirt n ddunit

S Ifaltat n medden ara nseggem iman-nney, ur nyelli ara deg texnanasin. Lhag €li, yebya
ad yurar tafentazit, ad t-walin medden yesea, ur t-ixuss kra. Yekker yessemhalleq i wayen i
wumi ur yezmir. Kra n win yessen yerdel-d yur-s, armi tuli teekemt. [eemmer-as axxam i mmi-s
armi t-yerra am win n yimerkantiyen.

Iga tafentazit ula deg ccert n ssiya asmi yexdeb taqcict i d-yewwi i mmi-s Emer. Yebya ad
d-yesken iman-is deg taddart belli yezmer i wayen i wumi ur zmiren wiyad. Yezmer ad d-yeqdu
s wawal macci alamma s udrim. Ass-nni n tmeyra, taddart merra tettwaered. Ulac amdan ur nuy
ara amur-is deg wucci.

Zrin wussan, €mer yuy lhal yeffey netta d tmettut-is ad seeddin ayyur n uhewwes deg
Tunes. Weread d-uyalen mi bdan rezzun-d yimdanen yer uxxam, wid-nni yur d-yerdel Lhag €li
ad awin idrimen-nsen. Lhag €li yufa-d iman-is yettwaeelleq, mac¢i d ayen i wumi yezmer ad yerr
deg kra n wussan. Ula d idebbalen s usebru. Yedda yes-s lhal armi yerra akal n tfellaht i Ibie.
Imdanen wehmen akk d acu yuyen Lhag €li ad yessenz tamurt, yerna d aeerqub i d-yezgan deg
umkan igerrzen, yef rrif n ubrid. Ihettem-it lhal armi t-yessenz yerna s uzgen n ssuma. D ayen i
yesea d tuntict n wakal, yenza, arettal-ines mazal ur yessawed ara ad t-yerr. Ulac ass ideg ur d-
yettawed ara wabead yur-s akken ad yawi idrimen-is. Lhag €li yeshassef ula ansa ara as-d-kken.
Ad yessenz axxam ulamek [...]

Asmi d-yuyal €mer, yufa-d tamsalt tecbek. Teelleq-d dayen yer yiri-S. D acu i yexdem?
Yerra kra yellan deg uxxam-is i lbie seg lgecc yer ssiya n tmettut-is. Idfer-it lhal armi d-yeqgim
uxxam-is d ilem. Asmi yesla udeggal-is s wayen yedran, yusa-d yewwi yelli-s; ruh tura ad
txedmed tafentazit s wayla n medden! [...]

Qgaren medden ameyyez ugbel aneggez. Tamsalt n zzwag 1 kull ass mac¢¢i 1 yiwen n wass.
Yessefk umeyyez, ahebber akked nniya. Iwakken ur d-tgerri ara nndama, iwata uhezzeb.

Hmed NEKKAR, Azedda n tissist, Tamagit, 2016, sb. 130-133.
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Isestanen:
1) Tigzi n udris: (06)
1. Ayyer i yessenz Lhag €li akal-is (tamurt-is) ?
2. Amek i tedra d teslit-nni i d-yeddan d tamaynut s axxam-is ?
3. Kkes-d seg udris aktawal (iger n umawal) n wawal « zzwag ». (03 n wawalen).

4. Ssufey-d yiwet n temsirt deg udris-a ?

1) Tutlayt: (06)
1. « Lhag €li, yebya ad yurar tafentazit, ad t-walin medden yesea, ur t-ixuss kra.
Bdu tinawt-a akka : « Tamettut n Lhag €li, ............cccooeiiiiniiiie, ».

2. Semmi-d isumar n tefyirt-a: Asmi yesla udeggal-is s wayen yedran, yusa-d yewwi
yelli-s.

3. Sled tafyirt-a ilmend n talya d twuri: Ad seeddin ayyur n uhewwes .

1) Afares s tira: (08)
Qqaren wat zik: «Qis ilmend n udar-ik telhud, yelha umeyyez uqbel aneggez,...».
S Imendad n yinzan-a (lemtul-a):

Aru-d adris ideg ara d-talsed tadyant n yiwen n umdan ur nezzeb i taggara, yeggra-d deg
nndama.
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Adris s tcawit:
Tamsirt n tmeddurt

S ufelti n yiwdan aha nseggem iman-nney, ur nettidu ca deg tbaslacin. lhaj €li yexs ad tt-
yirar d tafentazit ad t-hennan wudan belli yer-s ur t-ixuss aked qi¢, yekker yeggar iman-nnes mani
ur yezmir, yudef deg yimerwisa myir terwi fell-as, yeemer axxam i memmi-s myir it-yuea am yya
n yidumaliyen.

Aked deg urcal n memmi-s €mer yegga tafentazit deg tgimelt (ccert), asmi as-id-yexdeb
tamettut, yexs ad yesseneet iman-nnes deg ugewwar belli yezmer i1 matta ur zmiren ca yyid.
Yezmer ad d-yeqda s wawal maci s usurdi, ass n tmeyra agewwar ukkel yettwaered, ulac win ur
yewwin ca amur-nnes n wucci.

Zrin wussan, €mer yella yerg netta d tmettut-nnes ad seeddan ayur n uhewwes deg Tunes.
Weread ur d-wellin mi bdan rezzfen-d wudan yer uxxam, yyin mani-S d-yerdel Lhaj €li, ad awin
idrimen-nsen. Lhaj €li yufa-d iman-nnes yugel jar ujenna d tmurt, macci d amerwas yellan
yezmer ad yuea deg cra n wussan. Aked ibnadriyyen s urettal. Tekres fell-as temsalt myir yessers
acal n leflaht 1 tnuzi.

Iwdan behten ukk, matta yuyen Lhaj €li ad yessenz tamurt, yerni d tamurt i d-yusan deg
umkan yehla, yef yidis n ubrid!? Ihettem-it lhal myir t-yessenz yerni s uzgen n ssumt. Dayen i
yesea d tummezt n ucal yerni tenza, arettal-nnes weread ur yessexlid ca ad t-yuea, ulac n wass ur
d-yusi ca yer-s hedd ad yawi agel-nnes, Lhaj €li ihar mani-s ad as-id-ayen yidrimen. Ad yessenz
axxam ur tettligca|...]

Asmi d-iwella €mer, yufa-d tamsalt tekres, tugel-d yer yiri-nnes. Matta yegga €mer? Wa
maci d agmir i yegga i tmeddurt-nnes, maca yessers ayen yellan deg uxxam i usenzi s lgecc s
ssyayt n tmettut-nnes. Yexled mani yeqqim uxxam d ilem. Asmi yesla udeggal-nnes yusa-d
yewwi yelli-s; ruh imir-a ad tegged tafentazit s wagel n yiwdan [...]

Qqgaren yiwdan ameyyez sdat uneggez. Tamsalt n urcal i yal ass maci i yict n wass. Yuma
umeyyez d nniyyet, bac ur d-tettyima ca nndamt, yehla uhezzeb.

Hmed NEKKAR, Azedda n tissist, Tamagit, 2016, sb. 130-133.

16 o 13 i



5

2017 sl LydlSS | canddl ol dendd) [ diyle¥) el 133l § e

-,

Isestanen:
1) Tigzi n udris: (06)
1. Mayer yessenz Lhaj €li acal-nnes (tamurt-nnes) ?
2. Matta yedran i teslit-inni i d-yusin d tatrart yer uxxam-nnes?
3. Kkes-d seg udris aktawal n wawal « arcal » ( krad 03 n wawalen).

4. Matta tella temsirt n udris-a ?

1) Tutlayt: (06)

1. «Lhaj €li yexs ad tt-yirar d tafentazit ad t-hennan wudan belli yer-s ur t-ixuss
aked qic¢ ».

Bda tinawt-a amma : « Tamettut n Lhaj €11, ......coooiviiiiiiiiiiee ».
2. Semmi-d isumar n tefyirt-a: Asmi yesla udeggal-nnes yusa-d yewwi yelli-s .

3. Sled tafyirt-a ilmend n talya d twuri : Ad seeddan ayur n uhewwes.

1) Afares s tira: (08)
Qqgaren wat zik: « Qis ilmend n udar-ik telhud, ameyyez sdat uneggez,... ».
S Imendad n yinzan-aya (lemtul-aya):

Ari-d adris ideg aha d-talsed tadyant n yict n umdan (udan) ur nhezzeb c i tggara, yeggri-
d deg nndamt.
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Cddl gl caddl iyl dall) (83ke L)
dadlal) “ .
T Attan n ubehri 4y palic
& 8l e
I/ Tigzi n udris
1. Yettadef wattan n ubehri yer tfekka n umdan :
1.5
- S ubrid n usnuffes.
- Seg wanzaren ney seg ugemmuc alamma yewwed yer turin.
2. Timitar swayes 1 nezmer ad neeqel amdan ihuza wattan-a :
- Aqrah n uqerruy.
0.5 - Aqrah n tayect.
06 0.5
0.5 - Tawla.
- Tussut.
- &Eeyyu.
3. Inetted wattan-a s sshala acku :
01.5 - Yetthaz ahric n usnuffes.
- Inetted seg umdan yer wayed imi anfafad-a yetteddu deg uzwu.
1.5 4. Tamentilt i yeggan imejjayen ur as-d-ufin ara acrad iwulmen imi d
yiwen n unfafad (abirus) ur nerkid ara, yettbeddil tayara s
lemyawla.
11/ Tutlayt (06/06)
1. Taccart n tfelwit :
Talya taherfit Isem n tigawt | Isem n umeskar
0.5X04 Issin Tamussni Amussnaw
Akecéum/ Anekcam /
Kcem Akcam / Amnekcam
Anekcum
2. Tasledt n tefyirt ilmend d talya d twuri : ad tent-isew.
Ad isew : d amyag yeftin yer wurmir s ad, udem wis krad asuf
06 amalay (netta).
0.5 - Ad: d tazelya n wurmir (n yimal).
0°5 - 1--- : d amatar udmawan / d asentel, ameskar, amigaw.
0.5 - sew : d afeggag / d aseyru umyig
0.5 - tent : d amqim awsil n umyag / d asemmad usrid.
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Caddl Al il LauyleV1 dall sdsle yLas!
3. Asemmi n yisumar d tesyunt n tefyirt :
0.75 - Timitar-a tteawanent imejjayen : d asumer agejdan.
0.75 - Akken ad d-afen attan : d asumer imsentel (amugil) n yiswi.
03 - Akken : d tasyunt n yiswi.
III) Afares s tira :
Adris ad yili d imsegzi. Aktazal ad ibedd yef yisefranen-a :
0.5 » Udem n ufaris :
0.5 - Tettwafhem tira.
0.5 - Tella tama 1 yal taseddart.
0.5 - Tella tallunt (ilem) gar tseddart d tayed.
0.5 - Tira n usekkil ameqqran anda iwata.
» Anaw n udris :
- Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalen iwatan
0.5 (izen), anermas...
0.5 - Tikta ddant d usentel.
0.5 - Tayessa n udris tefrez.
0.5 - Aqader n tecrad n wanaw n udris.
» Tutlayt :
- Asemres n umawal iwatan.
0.25 - Asemres n yinammalen iwatan (akud, adeg... ).
0.25 - Asefti n yimyagen yer tmezra iwatan.
0.25 - Asemres n yisemmaden akken i d-yewwi ad ilin.
0.25 - Aqader n yilugan n tira.
0.5 - Asigez n udris.
05 > Taseddast / tazdawt :
05 - Tifyar d tummidin.
05 - Tugqna gar tefyar akked tuqqna gar tseddarin.
05 - Asemres n yisenfalen (tikkesrert).
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il gl caddl LauyleV1 dall sdsle yLas!
dadal) . .
T Adan n ubehri 4Ly ualic
& 8)
I/ Tigzi n udris
1.5 1. Yettadef wadan n ubehri yer tfekka n umdan :
- S ubrid n utneffes.
- Seg wanzaren ney seg yimi alda ad yexled yer turawin.
2. Timitar s matta i nezmer ad neegel awdan yettef wadan-a :
- Sster n yixef.
0.5 - Sster n tmigga.
06
0.5 - Times.
0.5 - Tusit.
- Leegya
3. Inetted wadan-a s zzerban acku :
1.5 - Itettef ahric n utneffes.
-  Inetted seg umdan yer wayed acku ssus-a yeggur deg
uzwu.
4. Tamentilt 1 yeggin imejjayen ur as-d-ufin ca acrad iwatan acku d
yict n ucta (virus) ur yersin ca, yettbeddal tayara s zzerban.
13 11/ Tutlayt (06/06)
1. Taccarit n tfelwit :
Talya taherfit Isem n tigawt Isem n umeskar
Ssen Tamussni Amussnaw
0.5X04 Adef Adaf/tmadaft | Amadaf
2. Tasledt n tefyirt ilmend d talya d twuri : ad tent-isew.
Ad isew : d amyag yeftin yer wurmir aherfi, udem wis krad
asuf amalay (netta).
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Ad : d tazelya n wurmir (n yimal).
g: 1--- : d amatar udmawan / d asentel, ameskar, amigaw.
06 0:5 sew : d afeggag / d aseyru.
0.5 tent : d amqim awsil n umyag / d asemmad usrid.
3. Asemmi n yisumar d tesyunt n tefyirt :
0.75 - Timitar-a tteawanent imejjayen : d asumer agejdan.
0.75 - Bac ad d-afen adan : d asumer imsentel (amugil) n yiswi.
0.5 - Bac : d tasyunt n yiswi.
III) Afares s tira :
0.5 Adris ad yili d imsegzi. Aktazal ad ibedd yef yisefranen-a :
» Udem n ufaris :
0.5 - Tettwafthem tira.
0.5 - Tella tama 1 yal taseddart.
0.5 - Tella tallunt (ilem) jar tseddart d tayed.
0.5 . . .
- Tira n usekkil ameqqran mani iwata.
» Anaw n udris :
- Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalen iwatan
0.5 (izen), anermas...
0.5 - Tikta ddant d usentel.
0.5 - Tayessa n udris tefrez.
0.5 - Agader n tecrad n wanaw n udris.
> Tutlayt :
08 0.25 - Asemres n umawal iwatan.
0.25 - Asemres n yinammalen iwatan (akud, adeg... ).
0.25 - Asefti n yimyagen yer tmezra iwatan.
0.25 - Asemres n yisemmaden ammin 1 yuma ad ilin.
0.5 - Agader n yilugan n tira.
0.5 - Asigez n udris.
» Taseddast / tazdawt :
0.5 - Tifyar d tummidin.
0.5 - Tuqqna jar tefyar akked tugqgna jar tseddarin.
0.5 - Asemres n yisenfalen (tikkesrert).
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I) Tigzi n udris:
1.5 1. Lhag €li yessenz tamurt-is akken ad yerr arettal-nni i d-yewwi mi t-ssutren
06 yimawlan-is.
L.5 2. Tislit-nni d-yeddan d tamaynut yusa-d baba-s yewwi-tt mi yesla s wayen yedran
deg uxxam n urgaz-is.
1.5 3. Aktawal n zzwag: axxam, xdeb, tameyra, ucci, tamettut, idebbalen, ssiya,
adeggal...
4. Tamsirt n udris-a: Amdan deg ddunit ur d-irettel ara ayen i wumi ur yezmir ad t-
1.5 yerr. Dayen ur ilaq ara ad izux s wayla n medden imi taggara-s d asegrireb, d
ayurru,....
IT) Tutlayt:
1. Tiririt n tefyirt yer wunti asuf: « Tamettut n Lhag €li, tebya ad turar
1.25 tafentazit ad tt-walin medden belli tesea ur tt-ixuss kra ».
06 Isumar n tefyirt:,
) e Asumer agejdan: yusa-d yewwi yelli-s
1 e Asumer imsentel n wakud: Asmi yesla udeggal-is s wayen yedran
2. Tasledt:
Awal Talya Tawuri
. | D amyag yeftin yer wurmir s ad, d wudem
{ YF=eddin wis krad (03) amalay asget. /
ad D tazeyla n wurmir /
D asentel/
-n D amatar udmawan. .
amigaw/ameskar
-7 seeddi D afeggag n umyag D aseyru umyig
ayyur D isem amalay asuf deg waddad ilelli. D asemmad usrid
n D tanzeyt. /
uhewwes | D isem amalay asuf deg waddad amaruz. | D asemmad n yisem.
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III) Afares s tira :
Adris ad yili d ullis. Aktazal ad ibedd yef yisefranen-a :
» Udem n ufaris :
- Tettwathem tira.
- Tella tama 1 yal taseddart.
- Tella tallunt (ilem) gar tseddart d tayed.
- Tira n usekkil ameqqran anda iwata.
» Anaw n udris :
- Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalen iwatan
(izen), anermas. ..
- Tikta ddant d usentel.
- Tayessa n udris tefrez.
- Agader n tecrad n wanaw n udris.
> Tutlayt :
- Asemres n umawal iwatan.
- Asemres n yinammalen iwatan (akud, adeg... ).
- Asefti n yimyagen yer tmezra iwatan.
- Asemres n yisemmaden akken 1 d-yewwi ad ilin.
- Aqader n yilugan n tira.
- Asigez n udris.
» Taseddast / tazdawt :
- Tifyar d tummidin.
- Tuqgna gar tefyar akked tuqqna gar tseddarin.

- Asemres n yisenfalen (tikkesrert).
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I) Tigzi n udris:
1.5
1. Yessenz lhaj €li tamurt bac ad yuea amerwas 1 as-ttsalen yiwdan.
1.5
15 2. Taslit 1 d-yusin d tatrart, mi yugel urgaz-nnes deg yimerwasen, yusa-d baba-s
) yewwi-tt id-s.
1.5
06 3. Aktawal n “Arcal”: tigimelt, yexdeb, tamettut, tameyra, yettwasred, uc¢i.
4. Tamsirt n udris: Amdan ur yeggar ca iman-nnes deg tyawsiwin yellan ur asent-
yezmir ca, ad yettef agel-nnes ur yettfux s wagel n yiwdan...
II) Tutlayt:
1.25 1. Tafyirt yer wunti asuf: « tamettut n lhaj €li texs ad tt-tirar d tafentazit ad tt-
) hennan wudan belli yer-s ur tt-ixus aked qic ».
2. Asemmi n yisumar n tefyirt: §
1 e Asmi yesla udeggal-nnes: asumer imsentel n wakud.
1
06 e Yusa-d yewwi yelli-s : asumer agejdan.
3. Tasledt:
Awal Talya Tawuri
0.25x11 - -
Ad seeddin D amyag yeftin yer wurmir s ad, d wudem /
wis krad (03) amalay asget.
ad D tzelya n wurmir. /
sceddi D afeggag n umyag. D aseyru umyig.
-n D amatar udmawan ameskar/amigaw/asentel
ayur D isem amalay asuf deg waddad ilelli. D asemmad usrid
n D tanzeyt. /
uhewwes | D isem amalay asuf deg waddad amaruz. | D asemmad n yisem.
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III) Afares s tira :
Adris ad yili d ullis. Aktazal ad ibedd yef yisefranen-a :
» Udem n ufaris :
- Tettwafthem tira.
- Tella tama 1 yal taseddart.
- Tella tallunt (ilem) gar tseddart d tayed.
- Tira n usekkil ameqqran anda iwata.
» Anaw n udris :
- Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalen iwatan
(izen), anermas. ..
- Tikta ddant d usentel.
- Tayessa n udris tefrez.
- Aqgader n tecrad n wanaw n udris.
» Tutlayt :
- Asemres n umawal iwatan.
- Asemres n yinammalen iwatan (akud, adeg... ).
- Asefti n yimyagen yer tmezra iwatan.
- Asemres n yisemmaden akken i1 d-yewwi ad ilin.
- Agader n yilugan n tira.
- Asigez n udris.
» Taseddast / tazdawt :
- Tifyar d tummidin.
- Tuqqgna gar tefyar akked tuqqna gar tseddarin.

- Asemres n yisenfalen (tikkesrert).
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